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(06 Marks)

sto:find voltage across 2Q resistor show in
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c. Determine the current I, in the circuit of Fig. Q2(c) using Mesh analysis. (06 Marks)

3 a (08 Marks)

b. (06 Marks)

C. (06 Marks)

4 a (10 Marks)

b. (10 Marks)

5
(08 Marks)
C. (04 Marks)
@ OR
6 a Whatis Resonance‘? Derlve\expressmn for cut — off trequenmes (10 Marks)
b. '
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7 a. (08 Marks)
b. Obtain the Laplace transform of :
i)  Unit step functions f(t) = u(t) iif) f{t)=Sinhwt. (06 Marks)
c. Obtain the Laplace transform of the function shown in Fig. . (06 Marks)
8 a i) e Sinwt
(10 Marks)
b. (10 Marks)
9 a
(10 Marks)
(10 Marks)
10 (10 Marks)
(10 Marks)
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50, will be treated as malpractice.

Tmportant Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 18EE34
Time: 3 hrs. 3 {;%Max Marks: 100
Note: Answer any FIVE full questions. hoosmg ONE full question ﬁom each module.

1 a. Draw a double ended clipp cuit and explain the Jw QI g principle with transfer

characteristics. ' (08 Marks)
b. Explain the operation otle)> tfansistor as a switch witll suitable circuit and necessary

Wavefonns (05 Marks)

c. = 80, R; = 62KQ,
KO Rg = 680Q. Calculate quiescent base, collector currents and

(07 Marks)

a. (08 Marks)
b. 1ps negatWe peak of a single to
(06 Marks)

c. aine Ing, Ieg, VCEQ and saturation
) (06 Marks)
a. Compare the characteristics of CB,LBiand cC conﬁguratlon of transistor, (04 Marks)
b. Derive an expression for Z; angé for emitter follower configuration using approxunate
hybrid moéﬁ L 4 (08 Marks)

c. ACE amphﬁel uses Ry, = Rs < 1KQ. The h-parameters are h; = 1.1K€, h = 2.5 x 107,
he = 50, hge = 25].LAf AEind voltage gain, current gain, input impedance and output

admittance. (08 Marks)
&
OR _ ,

a. Starting from ﬂle indamentals, define h-parameters and obtain h-parameter equivalent
circuit of common emitter configuration. (08 Marks)

b. State and %}QVC Miller’s theorem with its dual. (08 Marks)
c. The h-pa fneterq for the transistor are hi = 1.1KQ, he = 99, he = 2.5 x 10* and
2541 "'V, find h-parameters for common base configuration. (04 Marks)
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5 a
b.
c.

6 a
b.
c.

7 a.
b.
c.

8 a
b.
c.

9 a

18EE34

Module-3 Y
Obtain expression for input impedance, currentigain‘and voltage gain of a Darlington emitter
follower circuit with hybrid parameter equlvalent ¢ircuit. (10 Marks)
With a simple block diagram, explain the %gncept of feedback amphﬁef"g% (06 Marks)

The overall gain of a multistage amphﬁ“el_j s"100. When negatwe@g edback is applied the
gain reduces to 10. Find the fraction oft the output that is feedback to s the input. (04 Marks)
p @

With the help of circuit diagrgni uss the importance of: cascade connection of transistors.

) (06 Marks)
Mention the advantages . ¢ (04 Marks)
Using the block diagiai 1 %en for Ay and Z;e for voltage series
feedback amplifier. 'S (10 Marks)

&
&

With circuit di‘agm

(08 Marks)
coff circuit dlagram ex Iamathe working of Hartley oscﬂlator (06 Marks)
Calculdte the power dissipated indthe; i
amplifietif Voo = 18V and Ry =40Q.

) (10 Marks)
N ¢ (04 Marks)

State the advantage of pu sh puﬂ operatio

A crystal has thes¢ Values L = 3H, Cs = 0, 5p = 10pF. Calculate f; and £,
of the crystal. 4 (06 Marks)
& ¢
oy “ vioaguic-o m@
Explam,gthg%gonstructmn, opera t10n and charactenstf f n-channel JFET. (12 Marks)
Dlscussgthe differences betwe = (04 Marks)

%r%EET and BJT.

A JFET has gm=35mVa V., Find Ipss if pinch —off voltage V, =-2V. (04 Marks)

£ (12 Marks)
amphﬁer ‘using ﬁ§eQ 11 bias configuration. Derive Z;, Zy and Ay using small
# (08 Marks)

% o3k ok %

20f2




o

KLS Vishwanathrao Deshpande Institute of Technology, Haliyal

50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

18EE35

Simplify the ﬁmcuon‘“ 243 »,2?4 5 13, 15)+ ¥d(s, 9, 10 11) using

Karnaugh map. 06 Marks)
¢. Simplify the fugi Gio
Karnaugh map. ., "4 (06 Marks)
a.
(08 Marks)
b. for the following
(12 Marks)
a. decoder and encoder.

(06 Marks)

; (06 Marks)
D gates and write its truth table.
(08 Marks)

(06 Marks)
tude comparator. Write the Karnaugh map for each
i (14 Marks)

b.

a. What is a Flip-Flop? Dfso‘us:? the Workmg pnnclple of SR Flip-Flop with its truth table. Also

highlight the role of SR:Flip-Flop in switch de-bouncer circuit. (12 Marks)
a. =Y
b. Denvegté&g characteristic equatmns for D,JK, T and SR F hp-Flops (08 Marks)

lofz
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18EE35
Module-4
7 a. Explain with suitable logic and timing diagram &,
i) Serial-in serial out shift register ’
ii) Parallel-in parallel out shift register. y (10 Marks)
b. Compare Resisters and Counters. Expéf i the working of 4-bit_asynchronous counter
configured using JK flip-flops. o (10 Marks)

8 a. Describe the block diagram of a, OD-7 Johnson counter aﬁd explam its operation. Give the
count sequence table and.the ﬁecodmg logic used to 1dent1fy the various states. (10 Marks)

b. Design a MOD-5 synchr ous binary counter usmg g}@cﬁ%{ed JK Flip-Flops. (10 Marks)
&
9 a Moore model in a sequential circuit analysis.

08 Marks)
b I%fc"ncmt has one mput and one output The state diagram is an shown in
(12 Marks)
10 a. i ic st }tﬁ‘re, explain cleaﬂy%l’rogrammable Read Only Memories (PROMS) and
. \% (13 Marks)
b. Write short note

i) Read only” 4nd Read/ Write mémories

ii) Flash memory. 4 (07 Marks)

sk ook ok %
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USN 18EE36
Third Semester B.E. Degree Exami Va\”mn, July/August 2022
Electrical and Electromg\Measurements
Time: 3 hrs. ‘Max. Marks: 100
Note: Answer any FIVE full questzons, oosing ONE full questzon from each module.

dule-1 '. :
1 a. Define sensitivity of galvanomieter/Draw Wheatstone’s budge and derive balance equation.
(08 Marks)
b. A Wheatstone Bridge has yIKQ Q=100Q,R= ~,0059 and S =200, Find AR if bridge is
not balanced. If the galyanometer sens1t1v1ty is (S) TOmm/pA, applied voltage is 5V and
internal resistance of galvanometer is 100Q. Find the deflection of the galvanometer.
¥ (12 Marks)
2 a ) Mrcuit diagram and explai_h Desauty’s modified bridge and derive relevant
(08 Marks)
b.
(08 Marks)
c. (04 Marks)
3 a

(08 Marks)

(12 Marks)

4
(06 Marks)
(06 Marks)
5
t (08 Marks)
b. A moving \coﬂ meter glves fulls scaie deflection with a current of SmA. If the coil of the
instrument has a resistance/0f: 11 002 how can it be adopted to work as :
1) Ammeter of range (0,— 10z
i) Voltmeter of range (0 (08 Marks)
¢. Explain turns comggnsatlon used mstrument transformers. (04 Marks)
# OR
6 a. Draw aneat cu:cuzt d1agram and explain Silbee’s method of testing Current Transform (CT).
P (12 Marks)
b. lp of a neat circuit diagram explain how flux density can be measured in a ring
(08 Marks)
2 lof2
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18EE36
Module-4
List the advantage of electronic instruments, (04 Marks)
Explain construction and working of :
i) True RMS reading voltmeter e
i) RAMP type digital voltmeter. M”%’ (16 Marks)

Draw the block diagram of a electronlc energy meter an 'explam its working. List its
advantages. ) ‘ (12 Marks)
Explain the construction and workmg ofa successive approxunahon type DVMS. (08 Marks)

. Module-5 - @
With relevant diagrams €xplain : s
i) Seven segment displays &
1)Liquid crystal displays. (08 Marks)
Explain the working of Cathode Ray Tube | CRT) with a neat diagram. (08 Marks)
What are Bar graph displays and where are they used? (04 Marks)

N

. (10 Marks)
Explain the following : ¥
1) Nixie tubes
11) ECG. (10 Marks)

s 20f2
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2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 18EE46
Fourth Semester B.E. Degree Exammatlon, July/August 2022
Operational Amplifiers and Linear IC’s

Time: 3 hrs. ax. Marks: 100
1 a. Draw the block diagram (08 Marks)
b. Explain the working of O f’ﬁ%}phﬁm. Derive the expression for its
voltage gain. g, (08 Marks)
c. An Input of 3V is Feg , 10’ the non mverting term — Amp. The amplifier has
R; = 10 kO and R¢=4,0k<). Find the output Voltage (04 Marks)
2 a anl ,stmmentauon Amplifier? ﬁAlso obtain the expression for output voltage in
terms of”éhgnge in Resistance AR usmg transducer bridge. (08 Marks)
b. \: ; i »and derive its output voltage
equatlon Vo. Also explain how to ¢onvert it to an aveiagz i (08 Marks)
c. Explain the Vzrtual ground : (04 Marks)
3 a. Draw the First Order Low Pass Butterwofch ﬁ s and obtain its nguency Response.
8 (10 Marks)
b. Explain kamg»aa W (06 Marks)
c. Design a Flrst«ﬂrder Low Pass filter 1th;a cut off frequeﬁcy@ of 1KHz and Pass band gain
of2. Assume G= 0 001 pF. (04 Marks)
3 %§ ﬁ
4 a. Draw? T%”’%’”éi%}?"'i1rs*z Order High ] utterworth filter and obtain its Frequency Response.”
% ¢ (10 Marks)
b. ﬁih a neat circuit dxagral%gexplmn the Adjuista table Voltage Regulator and its Operation.
- ¥ (06 Marks)
/’\‘\Emd the Range in which output voItage 6%% be varied with the help of 317 IC Regulator
using R; = 820Q anz = 10K petentmmeter (04 Marks)
“iModule-3
5 a. Sketchthe ;%?;ut of triangular \gavefonn generator and explain its operation. (08 Marks)
b. Draw and explain the Ope:a%len of Non Inverting Zero Crossing detectors. (04 Marks)
c. Explain the working of v ‘iltage to current converter with grounded load. (08 Marks)
6 a. With a neat CIert <‘ghagram and waveforms, explain the Operation of inverting Schmitt
trigger circuit, &, \ ¥ : (08 Marks)
b. Give compans;gn ‘between Schmitt trigger and Comparator. (04 Marks)
c. Explain mg&gorhng of R — C phase shift oscillator using Op - Amp. (08 Marks)

1of2
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18EE46
Module-4
7 a. With a neat circuit diagram, explain the Operd ’tzgg\m f Non Saturating precision half Wave
Rectifier. ®. (10 Marks)
b. Explain the working of Successive Appro naﬁon Type ADC with neag%etch (10 Marks)
%wg
8 a. Explain the Operation of R — 2R | - digi : er Circuit. (10 Marks)
b. With aneat circuit diagram, expla i isi ave Rectifier. (10 Marks)
9 a
(10 Marks)
b. (10 Marks)
10 a.
b.

(08 Marks)

20f2
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USN 18EEA4S
Fourth Semester B.E. Degree Examinatior, July/August 2022
Electromagnetic Field Theory
Time: 3 hrs. Max. Marks: 100
Note: Answer any FIVE full questions, choosing ONE full question jﬁ'om each module.
1 a Define Scalar and Vector, fer

between two vectors.
Obtain the relationship be

“the Dot product and angle

& (08 Marks)
‘indrical coordinates. (06 Marks)

=4

e

(06 Marks)

(06 Marks)

(08 Marks)
(06 Marks)

(08 Marks)
<2 mtr, while charges 2 nC,
(06 Marks)

(06 Marks)

(08 Marks)
(06 Marks)
(06 Marks)
Module-3
quations from Gauss law in point form in all the three
) . (08 Marks)
State and xplam Biot-Savart [aw nd Ampere s circuital law. (08 Marks)
¢. Solve to find'the current dggsﬁy, given: H= (3}/*2)&)( +2xay A/m. (04 Marks)
: OR
a. State and prove the Steke’s theorem. (08 Marks)
b. Verify the pctenﬁai%ﬁeld given satisfies the Laplace’s equation, V=rcos¢+z. (06 Marks)
€. Derive the equa&on for pomt form of Ampere’s law. (06 Marks)
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b

a.

¢

Module-4
Derive an expression for force between two conductors carrying current in opposite
direction. , (08 Marks)
A current element 4 cm long is along y-axis with a’cuffent of 10 mA ﬂowmg in y-direction.

t]ge magnetic field, if H= —ax AM.

Determine the force on the current element dgx
o)

(06 Marks)

State and explain Lorentz force equation, (06 Marks)

Derive the boundary conditions

permeabilities. 5 k_;sf (08 Marks)

Derive an expression for mdnc nce of solenoid. (06 Marks)

Given a ferrite material wh 'will operate in a linear mode with B = 0.05 Tesla. Let

p, =50. Calculate val *@f X,.»Mand H. (06 Marks)
Module-5S

State and explain Faraday’s law. P (06 Marks)

What are the” drawbacks of Ampere’s 7 Hence derive an expression for modified

ampere’s law. - (08 Marks)

Write I\{{qstll’s equation in point forny and integral form of time varying fields. (06 Marks)

(08 Marks)

wave is propagatmg inég;, directi oulardreq 25 §§ ?Prad/ sec. Find
(i)  Phase shift constant ‘ ’
(11) Waveletngth

(iii)  Frequency.

Briefly explam the skin effect in coi

(06 Marks)
(06 Marks)

20f2
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18EE44

o ®

a.

,%

.éw@&“

Fourth Semester B.E. Degree Exammaﬁlon, July/August 2022
Electric Motars

Module-1

significance. : (06 Marks)
he torque of a DC motof # (06 Marks)
i o{or runs at 1000 rpm on nodoad and takes SA. The armature and shunt
"e 0.2 Q and 250 O respéctively. Calculate the speed when loaded and

P

takmg a current Q‘ﬁS 0 A. Due to annature/r ction, the field weakened by 3%. (08 Marks)

Derive an expressi
A 250 V DC shu

starter with a neat sketch. _
Draw and explain the charaeteristics of DC series

(08 Marks)
(06 Marks)

« Modu'lgﬁ&vi
Explam the Swmburnez ’s test to determine: @oad losses of 2 D€ machine. What are the
(08 Marks)

/% (08 Marks)
5 ‘ oéécumng in aDC‘ hine. (04 Marks)

r and derive condition for maximum torque.
(08 Marks)

| orque-shp char actenstlcs of a 3¢ induction motor including motoring
: (08 Marks)

A 4 pole, 3dmn 1ction motor is fs lied. from 50 Hz supply. Determine its synchronous

‘speed. On gl I§ad is speed is 6bsexved to be 1410 rpm. Calculate its full load sli
P P P p.

L P (04 Marks)

Y Module-3
Starting from the fundatnentals develop the eqmvalent circuit of a polyphase induction
motor and explaln how mechanical power developed is taken care of in the equivalent

circuit. (10 Marks)
Describe the cg trfi’ctmnal features of a double cage and deep bar rotors of 3¢ induction
(10 Marks)

1of2
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OR
A415V,29.84 kW, 50 Hz Delta connected motor a
No load test 415V |21 A | 1250 W

Blocked Rotortest | 100V |45 A | 2730 W ¢
Construct the circle diagram and determine -
()  Line current and power factor for rated gﬁtput
(i) The maximum Torque. Assume sta%wd rotor copper losses:

g*}:équal at stand still.

¢ N (14 Marks)

Explain the phenomenon of co’ggigg§ Perawling in a 3¢ Induction motor. (06 Marks)
7 Module-4

iting a squirrel cage mduction motor and explain star-delta

( ith a suitable circuit dlagggm (10 Marks)

Enumerate the speed ¢th oI‘ methods of 3¢ mductionxmotor and explam supply frequency

b (10 Marks)

(10 Marks)

&+ Module-5
List the methods of startm\ "ynchronous motor an

p

B

) in slip ring- {?%ctmn motor with a
d (1o Marks)

i

oA s?allatmn of synchronous
«Qyndenser (ii) Total KVA of
(10 Marks)

condenser then ca
the factory. %@@

; operation of syn/chronv us motor at cor stant load Vanable excitation and V and
: 2 e (10 Marks)
ristics and applications of universal motor. (10 Marks)

20f2
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USN 18EE43
Fourth Semester B.E. Degree Exa
Transmission and@Dlstrlbutlon
Time: 3 hrs. .
Note: Answer any FIVE full questian,é ho
1 Draw the line diagram of § typical transmlssmn and dJStnbutlon system indicating the

standard voltages. £ (06 Marks)
With usual notations, /de > an expressmn for th sag of a transmission line when the
5 “ (06 Marks)

Each line of a three phase sy; em is suspended b)f a, tnng of three smﬁla insulators. If the
voltage across the hne’umt 1s 17.5 KV, cala

(06 Marks)
(06 Marks)

: (12 Marks)
Two co uctors of a single has’glme, each of 1 cm diameter are arranged in a vertical plane
W1th one conductor mogft d 1m above the other. A sécond identical line is mounted at the
'spaced honzontaily '0.25 m apart from it. The two upper and the
re connected n parallel Determine the inductance per km of the
(08 Marks)

(08 Marks)
erhead hne conductors are placed in a horizontal plane 2m
apart Conductor dlamefe 1.25 cm. The line length is 100 km. Calculate the capacitance
per phase and chargmgxcurrent per phase Assume complete transposition of the lines.

(06 Marks)

and 15m apaﬁ:n £ the line voltage is 50 KV and 50 Hz, calculate chargmg current with line
open circulated. (06 Marks)

Tof2
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Module-3
a. Write short note on clas51ﬁcat1on of transm1ss1on 1', . (06 Marks)
b. Urrent for medium transmission lines,
06 Marks)

(1) Sending end Voltage
(i1) Percentage Regulation
(111) Transmlssmn efficiency.

a.
b.
(12 Marks)
a. (06 Marks)
b. 1
M . (') 'cal disruptive voltage
(i) Vistal critical voltage  © (08 Marks)

c. A 33 KV,3 phase underground cable, 4 km long :
conductor has a diamete
relative permittivity of thexdie

(i) Capacitance of the cable/phase

(11) Charging current/phase

(06 Marks)

(08 Marks)

IS

% 06 Marks)
Module-
(11) Avallablhty (1i1) Adequacy (1V) Secunty (10 Marks)

l’l
has go andir"tum resistance of 0. 004 0 per 100 m. Calculate the voltage at each load point if

voltage at feeding point 250’V ¢ (10 Marks)
OR
a. Explain the radial dlstnbunon system and Ring main distribution system. (10 Marks)
b. Explam with neat sketch different failure modes of bath tub curve. (05 Marks)
owWer (05 Marks)
* % K kK
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USN

Time:

[y
Qo

18MAT31

Third Semester B.E. Degree Examination, Feb./Mar. 2022
Transform Calculus, Fourler Series and Numerical
Techmques

3 hrs.

Max. Marks: 100

Note: Answer any FIVE full questions, choosing ONE full question from each module.

i) L{_ZL_W._

If f()= {2 %
a—t,

(s+1)’*(s+2)

Find L{_Ti__}
(S +av>" i 5

Evaluate L™ (-—ﬂémj 4

Module-1
()L e™

OR

sint, O<t<m .

Express f(t)=<sin2t, n<t<2n - N

Modu_le-2

sin2t)

by using convolutioa-theorem.

(-m, m)

nﬁ hence find its L-aplace Transform.

(06 Marks)

o)

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

as a Fouriet. series in the interval (0, 27) and hence deduce that

T 2—2+ g T (07 Marks)
Express y as a Fourier series. upto the second harmonic given :

ki 0 | 60 | 120 | 180 | 240 | 300

4y 4 3 2 4 5 6

% (07 Marks)
5 «»é OR

Find the Half-Range sine series of x — x* in the mterval 0, m) (06 Marks)
Obtain feun%r expansion of the function f(x) = 2x — x* in the interval (0, 3). (07 Marks)

{ of 3
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Obtain the Fourier expansion of y upto the first harmg ~
X 0 1 2 3 [
y 9 | 18 | 24 | 284
L N (07 Marks)
I, |xlka P
If f{x) = , ourter transform of f(X)#and hence find the
0, |xpa
value of I L (06 Marks)
Find the mhmte Fourier cosing transform of ¢ * (07 Marks)
Solve using z-transform yux2 ~ 4y, =0 given that Yo —"0, yi=2 (07 Marks)
OrR
Find the fourier sine transform of f(x) = e *! and
hence evaluate j ke n}x dx ; m>0. &> _l (06 Marks)
y 1+x”
Obtain the z-transform of cos nd and. sin n®. ‘ (07 Marks)
Find the inverse z-transform of Y
Az -2z
; % (07 Marks)
z' 52" +8z2-4
Module—4
Solve g—y =x’+y, y(l) =1 using Taylor S, serles method con51der1ng up to fourth degree
X :
terms and find y(1. 1) \ (06 Marks)
Given «31: 3x+%, y(0) = 1 compute y(O 2) by takmg h = 0.2 using Runge — Kutta
%
method of fourth order. S e (07 Marks)
If j—— 2" -y, y(0)=2 y(O 1) = 2.010, y(0. 2) 2.040 and y(0.3) = 2.090, find y(0.4)
correct to 4 decimal places using Adams- Bashfa‘rth method. (07 Marks)
OR,,
Use fourth order Runge-Kutta meth,éﬂ, to find y(0.8) with h = 0.4, given j_y:1/ x+y,
' X
y(0.4)=041 (06 Marks)
Use modified Euler’s methodto compute y(20.2) and y(20.4) given that g}i = logm(ij with
y(20)=5 Takingh=10.2. (07 Marks)
Y XY yith

Apply Milne’s predictor-corrector formulae to compute y(2.0) given e
X

X 0.0 0.5 1.0 1.5
y 2.000 2.6360 3.5950 4.9680

(07 Marks)
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Module-5
9 a. Using Runge-Kutta method, solve

d’ M o .
_y:x(_d_}ij —y* , for x = 0.2, correct to four decimal places, using initial conditions

dx’ dx
y0)=1,y'(0)=0 | (07 Marks)
b. Derive Euler’s equation in the standard form Viz, 2—— i =) (07 Marks)
- Oy dx\oy'
C. Find the extremal of the ﬁmctlonaiz» j :(y +y *+2ye*)dx (06 Marks)
OR i
dzy dy A% g ; . = =ae
10 a. - =4x +—d— and the following table of initial valucs:
2 x
1.1 4, 1.2 1.3
22156 | 2.4649 2.7514
i 23178 2.6725 2.0657
Computey( 5: by applying Milne’s Predictor-corrector formula. (07 Marks)
b. Prove that geodesics of a plane surf"‘" ef‘are straight lines. (07 Marks)

Ao,
c. On what curves can the functlonal J.(y +12xy)dx w1th y(0) = 0, y(1) = 1 can be

extremized? (06 Marks)

30f3
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Third Semester B.E. Degree Examination, Feb./Mar. 2022
Additional Mathematics - |
hrs. o Max. Marks: 100

Note: Answer any FIVE full questions, chagsigig ONE full question from each module.

USN
Time: 3
1 a.
b.
c.
2 a
b.
c.
3 a
b.
c.
4

A,

K‘Mt/)_c)lule—l

(2=3D)(2+1)°

Find the modulus and amplitude.\;iifﬂtli’é .complex number : 1— . (07 Marks)
A +1
« . n v
Prove that (M © =cosnB+isinnd. = (06 Marks)
I+cosB@—1sinH ) !
Show that the Vectom a 2 b+ 3¢ c _2a+3b-dc , —b+2¢ are coplanar. (07 Marks)
k, b 61—3_]+2k Fmd 1) ab 11) axb 1) |axb|. (07 Marks)
b 2]2, are perpendicular.
_ (06 Marks)
Express 1-1+/3 in the polar form and hence find its modulus and amplitude. (07 Marks)
Module-2
Using Euler’s theorem, prove that xu, + yu, = -3cotu where u :‘sin"{ xy J (07 Marks)
. X+y
i 2 3 4
-y XFX” X
,,_,,;1%5m2x =l+X————+—+...... (06 Marks)
B, B 2 3 24

o(u, v, W)

xy evaluate
a(x,y,z)

at the point (1, —1, 0). (07 Marks)

OR

(07 Marks)
(06 Marks)

S du cu
, prove that x——+y~«+z—:0. (07 Marks)

.. Ox "oy oz

Module—3

A particle moves along. the curve x = (1 — ), y = (1 + ), z = (2t — 5) determinc its velocity
and acceleration att= 1 sec. (07 Marks)

If F =2x2 1—3yz¢§;+vxz k and ¢p=2z-x"y, find T (Vo) and Fx(V([)) at{l, =1, 1y.
(06 Marks)

Find the “constants a, b, ¢ so that i = (x+2y+az) 1+(b‘< 3y - 7)_]+ (4x +cy+27)1 kis
irrotational. (07 Marks)

1of2
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OR
6 a. Find the directional derivate of ¢ = x’yz + 4x7° at (1,2,-1) along a = 2i- J 2k (07 Marks)

b. Find curl f given that f = xyz? i+ Xy Zj+X yzk (06 Marks)

¢ Iff=x *i+y?j+z°%k and g yzZi+ ZXj+ xyk Show that fxglsasolenmdal vector.

(07 Marks)
7 a. Obtain the reduction formula, I, = I cos" xdx , where n is a'positive integer. (07 Marks)
I Vx :
b. Evaluate J J xydydx . o, (06 Marks)
0 x
L1
C. Evaluate “..[(x +y+z)dxdydz. ' (07 Marks)
000 :
OR
wi6 Sy
8 a. Evaluate: jsin"(3x)dx. N (07 Marks)
¢ ‘
b. Evaluate :IX sin* x cos® x d x . _ : (06 Marks)
0
Ny
¢. Evaluate ”‘J-xyz dxdydz. » L% (07 Marks)
000 Y
Module-5
9 a Solve:(7x+y+1)dx+(x+2y+l)dy 0. ~ (07 Marks)
b. Solve:(dxy+ 3y’ —x)dx + (x*+ 2xy)dy =0. - (06 Marks)
c. Solve:y(2xy+e*)dx —e*dy=0. (07 Marks)
OR
10 a. Solve: (5x* +3x’y* —2xy’)dx + (2x’y — 3Xzyz SyYhdy = 0. (07 Marks)
b. Solve: y(2xy 1)dx xdy=0. (06 Marks)
c. Solve: j—y+ yCotX =CosX. (07 Marks)
X
& %k ok ok
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Third Semester B.E. Degree Examination, Feb./Mar. 2022
Electric Circuit Analysis
Time: 3 hrs. Max. Marks: 100
¢ Note: Answer any FIVE full questions, choosing ONE full question from each module.
= Module-1
8 1 a Use Source transformation and Source shift methods to convert the circuit shown in
?‘3 Fig. Ql(a) to a single current source in parallel with a single resistor. (06 Marks)
§ ; %__M\:’—_Nﬁw o A
63 CL)
o= 49 i
= Fig. Q1(a) Oy @ G 31
=) MAA 2
2o s ’
= . = > 5 5
GRS b. Compute the resistance across the terminals XY of network, shown in Fig. Q1(b). (06 Marks)
g ob
Lo e N
28 , [&n /’1
z E e\ x : 1 AAAA
Sz b én
Ly Fig. Q1(b) J -
= = ) A
1 - S Jsqu
R ol
o T B
é" S c. For the network shown in Fig. Q1(c), write the mesh equations for the meshes indicated in
5 2 time domain. Draw the dual network and write its nodal equations. (08 Marks)
<
55
> 5
R
= |
5 & Fig. Q1(c)
¢ .8 -
82
53 iy = Josint
o)
£ 8 ~ OR
& % 2 a. Use Node equations to determine what value of E will cause Vi to be zcero for the circuit
8 2 shown in Fig.Q2(a). (08 Marks)
S & :
—a
g
G
g Fig. Q2(a)
5
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Using Mesh analysis, find the current through 10Q resistor in the circuit shown in
Fig. Q2(b). (06 Marks)

Fig. Q2(b)

In the circuit shown in Fig. Q2(c), determine V, which results in zero current through 4Q

resistor. Use Mesh current analysis. (06 Marks)
2 i

Fig. Q2(c)
Module-2
Use Superposition principle to find the current in 2Q resistor in the network shown in
Fig. Q3(a). (06 Marks)
Fig. Q3(a)

Find the Thevenin and Norton equivalent circuit at terminals AB for the circuit shown in
Fig. Q3(b). (10 Marks)

Fig. Q3(b)
State and prove maximum Power Transfer theorem as applied to DC network. (04 Marks)
OR
Use Millman’s theorem to determine the voltage ‘Vs’ of the network shown in Fig. Q4(a).
Given that Er =230 |0’V ; Ey=230[-120° V ; Ep=230|120°V. (06 Marks)
£r O 20
Fig. Q4(a)

20of5
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b. For the circuit shown in Fig. Q4(b), determine the impedance Zx such that maximum power

1s transferred from the source to the load of impedance Zx. (08 Marks)
4 H
2.

C. (06 Marks)
Fig. Q4(c) - S@ﬁﬁ 4 ien A T
s Tz} 2p M
Module-3
5 a. Define Q of the effcmt and show that the resonant frequency is the geometric mean of half
power frequenmes (07 Marks)

b. Determige the’'RLC parallel circuit parameters whose impedance response curve is shown in
Fig. QS b)?z.:»What are the new values'of W, and bandwidth if ‘C” is increased 4 times?
(07 Marks)

Fig. Q5(b)
o 10 et ficey
c. A parallel=«R L circuit is energized by a current source of 1A. The switch across the source
18 opene att=0". Solve for: V DV and D*V att=0", ifR=100Q and L = (06 Marks)
| OR

6 a ‘_,A two branch anti lesonant circuit contains L = 0.4H and C = 40uF. Resonance is to be

“ achieved by variation of Ry and Re. Caleulate the resonance frequency for the following
cases: i) Ro=120Q ; Rc=80Q i) R =80Q ; Rc=0 iii) Ry =Rc=100Q.

(08 Marks)

b. Determine.i =07, when the switch K is moved from position 1 to 2 att=0

f;ﬁ_,dt
in the network shown in Fi 1g Q()(b) Steady state having been reached before switching.
(06 Marks)
Fig. Q6(b)
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Why do we need to study initial conditions? Write: the equivalent form of the elements in
terms of the initial and final conditions of the elc;meht. (06 Marks)

Module-4
The current function i(t) shown in Fig. Q7(a) is impressed on a capaeitor ‘C’. What should
be the strength ‘A’ of the impulse so that the voltage across th\ {C’ becomes zero for
t> 5 sec. (10 Marks)

Aty

Fig. Q7(a)

+ (Sezs)*

In the circuit shown in Fig. Q7(b), the switch is opened at t = 0, with V=1V, C = 1F

b

= —;H and G = 10. Find the node Vo-Ltages Vi(t) and Vs(t) by Laplace transform method.

(10 Marks)

g Ve £ L age)

» :
Fig. Q7(b)
Gy ;
e

OR g
State and prove Initial and Final value theorems. (08 Marks)
If {{t) = 2t, sketch the following 1) f{t — 2) u(t) ii) ffHut-2) i) f(t—-2)u(t-2)
v) f{t) &(t) vy flt)o(t—2). (06 Marks)

In the circuit shown in Fig.Q8(c), the switch is clased at t = 0 and there is no initial charge
on either of the capacitors. Find the resulting current ‘i’. Using Laplace transformation.
(06 Marks)

O

,_..——ug»/{'
Fig. Q8(c) - t l&ﬁ
€5,

Module-5
A three phase, 4 — wire 150V, CBA system has a star connected load with Z = 6\&0 Q

In= 6| 130" Qand Zc = 5[45° Q. Obtain all the i) Line currents

i) Currents in the neutral 1) Hence draw the Phasor diagram. (08 Marks)
Define [Z] and [Y] of a two port network and derive for [Z] in terms of [Y]. (08 Marks)

4 of 5
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c. Determine [Z] for the network shown in Fig. Q9(c). (04 Marks)
f,{, fn A Tk

Fig. Q9(c)

OR
10 3 A three phase, 339 4V 'ABC system has a delta connected load with Zxp = IOL Q

Zac =10[30°Q ‘dfzu\ = 15| -30° Q. Obtain phase and line currents as well as draw the

phasor dlagram Assume Vge as a reference phasor (10 Marks)
b. Obtain [Z} d% [Y] for the two port network shown in Fi ig. Q10(b).
F : b1

Fig. Q10(b)

(10 Marks)

* % Rk E
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Third Semester B.E. Degree Examination, Feb./Mar. 2022
Transformers and Generators

Time: 3 hrs. | Max. Marks: 100

. “Why paraliel operat

Note: Answer any FIVE full questions, ckaoszng ONE full question from each module.

Mﬁdule-l

With the help of phasor diagram.’ exprlam the operation of practical transformer on load.

‘ (06 Marks)
Find the all day efficiency of’ smgie phase transformer having a maximum efficiency of 98%
at ISKVA, UPF and Ioaded asfollows:
12 hours — 2kW, 0. 5p£1aggmg
6 hours — 2kW, 0.8pfilagging
6 hours — no loaéﬂ@«; (08 Marks)
Explain with ngdt circuit diagram and phasor dlagram the operation of star-star connected

3 phase transfo rifier. & (06 Marks)
"OR

Exp n\w’?h the help of connection and phasor dlagram how SCOTT connections arec used

to o ' two phase from three phase supply. : (06 Marks)

A 5KVA, 500/250V, S50Hz single phase transformer gave the following readings,
OCtest: 500V, 1A, SOWA[LV side open] -+
SCtest: 25V, 10A,60WLV side shorted]. =
Determine:
1) Efficiency on fifll load and 0.8pf laggmo
i)  Voltage reg lgtlon on full load and 0 8pf leading.
i) Efficieneyion 60% of full loadan
iv)  Draw the equivalent circuit f‘eférred to primary and msert all values init. (10 Marks)
Mentlon the advantages of delta—delta connected 3 phase transformer [Any four]. (04 Marks)

. Module-2
With“a neat circuit diagrant,-explain Sumpner’s test conducted on two identical transformers.

»%}so show how efﬁc1en yand regulatlon are calculated from Sumpner’s test data.

(08 Marks)
two single phase transformers are needed and mention the necessary
conditions to be si’msﬁed for parallekoperation. (06 Marks)
With a neat dlagram explain the}o eration of on-load tap changer. (06 Marks)

OR
With a neat diagram show the current distribution in step up and step down Auto
transformer. Also derive. the expression for saving of copper in an Auto transformer.

(10 Marks)
Obtain the expressmn for load sharing during the parallel operation of two transformers
having same voLt ' ratios. (06 Marks)
Explain how the:Eddy current losses and hysteresis losses are separated in a single phase
transformer. - (04 Marks)

1 of2
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b.

a.

b.

Module-3 %
Explain how the equivalent circuit parameters are obtained for

r a three winding transformers.

(08 Marks)
What is armature reaction in DC machines? Explain” how armature reaction produces
demagnetizing and cross magnetizing effect. Also, derive the necessary expressions for
demagnetizing and cross magnetizing ampere turns.- (08 Marks)
Write short notes on concentrated and dlstrlbuted winding in a synchronous generator.

(04 Marks)
‘OR sy
Derive the Emf equation of an altemator Also derive an expressmn for pitch factor and
distribution factor. : (10 Marks)
What is commutation? With a neat élagram explain the pracess of commutation. (06 Marks)
Mention reasons for using three windi ing transformers. 8 (04 Marks)
Module-4 -~

Explain the method of" determining voltage regulatlon of synchronous generator by ZPF
method with all the circuit diagram necessary in the test. (12 Marks)
The OC and SC test readings for a 3¢ star cennected 1000KV A, 2000V, 50Hz alternator are

Ir 10 [©20° ] 25 [ 30 | 40 [ 50

Voc line voltage | 800 [ 1500 | 1760 | 2000 | 2350 | 2600
Lase -7 200 | 250 | 300 - -

The armature resistance is 0. ZQ/p“h Draw the charaetfznstlc curves and estimate the
percentage regulation by EMF method at i) FL, 0. 8pf‘<‘ ¢ 1i) FL, 0.8pflead. (08 Marks)

OR
Explain the method of determining voltage regulatzon of alternator hy MMF method with all
necessary circuit diagrams in the test. § s (12 Marks)
Derive the expression for EMF induced: mterms of termmalwoltage load current, armature
resistance, synchronous reactance along Wlth phasor dia fam for lagging and leading PF

load. 9% el (08 Marks)
Module-5 .
Mention the necessary conditions for synchronizatiori of alternators. Explain the lamp dark
and lamp bright method of: synchromzatlon of alternators. (12 Marks)
Write short notes on hunting in synchronous ‘machine. Also explain the role of damper
windings. G (08 Marks)
OR
With a neat circuit diagram, explam the method of determination of X4 and X, of salient
pole alternators. (10 Marks)
Write short notes on capability curves of a synchronous generators. (06 Marks)
Mention any four advantages of operating alternators in parallel. (04 Marks)
sk sk ok ook
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USN 18EE34
Third Semester B.E. Degree Examination, Feb./Mar. 2022
Analog Electronic Circuits
Time: 3 hrs. ) | Max. Marks: 100
Note: Answer any FIVE full questtons, choosmg ONE full question from each module.

o ¥ *odule-l
1 a. For the circuit shown in Fig QI{ sketch the output waveforms and transfer characteristics
for cut in voltage of diode is 0.7V
Vo,
|
\
—\N

Fig Ql(a) (08 Marks)

b. With aneat circuit diagram xplain self bias circuit, write the necessary equations.
. (08 Marks)
€. Define stability factor and ‘derive the expressmn for stability factor of fixed baise circuit with
respect to Ico. ; (04 Marks)

“OR
2 a. Derivea Xpressmn for Emy, IB and V(E for voltage divider bias circuit using exact analysis.
(08 Marks)
b. What fisﬁelampmg circuit? Explam the negative damping circuit with and without reference
voltage with necessary waveforms. (08 Marks)
c. List the important apphcatlons of clipping and ¢lamping circuits. (04 Marks)
Module-2
3 a. With the help’ of re equivalent m@del “derive an equation for Zi, Zg and Ay for an emitter
follower con gu (08 Marks)
b. State and pm‘ve Mlllers theoxem (08 Marks)
c. Compare the characteristics af CB, CC and CE configurations. (04 Marks)
P ’ OR

4 a. Starting from fundzf ental define h-parameters and obtain an h-parameter equivalent circuit
of common emig;%{'"é()nﬁguration. (08 Marks)

[ of2

<y



KLS Vishwanathrao Deshpande Institute of Technology, Haliyal

10

18EE34

b. For the circuit shown below, determine : )re ii)Z;, Zo, A and A; taking ro = 00 Q)

 Fig Q4(b)

(08 Marks)

What are the advantages of h-parameters? (04 Marks)
: Module-3
Derive expressions for Z;, Zg-and A, for a Darlington emitter follower circuit. (10 Marks)
Draw and explain the block diagram of multistage‘cascade amplifier. (06 Marks)
Write important characteristics of Darlington emitter follower. (04 Marks)
OR

For a current series feedback amplifier, derive an expression for Z;;and Z. (10 Marks)
Explain the general characteristics of negative feedback amplifier. (10 Marks)

Module-4 "
Explain the operation of class B push-pull amphﬁer vae that the maximum efficiency of

class B configuration is 78.5%. A4 (08 Marks)
With a neat diagram and waveform, explain the operation of RC phase shift oscillator using
BJT. Write the expression for frequency of oseillation. ' (08 Marks)

A crystal has following parameters L= 0.3344H, C = 0. 065pF, Cy; = 1pF and R = 5.5KQ.
Calculate : i) Series resonance frequency i) Parallel resonance«fﬁ”equency (04 Marks)

“.OR
With a neat diagram, explain basic* prmmple of ope,ratlon of oscillators and write the
condition to obtain sustained oscillations. (08 Marks)
Prove that the maximum conversion efficiency of class A transformer coupled amplifier is
50%. s (08 Marks)
The following readings are available for a poWel amplifier, calculate the second harmonic
distortion in each case.
Vceo = 10V Vg = 18V Veggmin =1V

Veeo = 10V Vegmag = 19V Vegmin =1V (04 Marks)
Module-5

Explain the construction working and characteristics of an n-channel JFET. (10 Marks)

Define transconductance (g} and derive an expression for “g.”. (06 Marks)

Compare BJT and JFET. (04 Marks)

OR
With neat sketch, explain the basic construction operation and characteristic of n-channel
depletion type MOSFET. (10 Marks)
Derive the expression for Ay, Z; and Z, for a JFET common source amplifier with fixed bias
configuration. (10 Marks)

sk ok ek sk
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Third Semester B.E. Degree Examination, Feb./Mar. 2022
Digital System Design

Time: 3 hrs. Max. Marks: 100

Note: Answer any FIVE full questions, choosing ONE full question from each module.

VM'odule—l
Explain the definition of combinational logic. Convert the given Boolean cxpression into
minterm canonical form and maxterm canonical form.

F(x,y,z) = X+Xz(y+2). - (08 Marks)
Simplify the function :

Y =1f(a,b,c,d)=3m(2,3,4,5,13, 15) + 2d(8, 9, 10, 1 1) using Karnaugh map. (06 Marks)
Simplify the furiction :

Y =1f{(a, b, c,d) ir’tM(O, 4,5,7,8,9,11, 12,13, 15) using the Karnaugh map. (06 Marks)

- OR
Simplify wing the Quine — McClusky minimization technique :
Y =1f{a, b, ¢, d) =2Im(0, 2, 8, 10). (08 Marks)
Using the Quine — McCluskey method, obtain all the prime implicates for the following
Boolean function : ; '

f(a, b, ¢, d)=nM(0, 2, 3, 4,5, 12, 13) + dc(8, 10). (12 Marks)
g Module-2
With the aid of general structure, clearly distinguish between a decoder and encoder.
B (06 Marks)
Implementithe following Boolean function using 4 : | multiplexer.
R, F(A, B, C)=2nu(l, 3, 5, 6) (06 Marks)
Implement full subtractor using a decoder and two NAND gates and write its truth table.

p (08 Marks)
What is carry look ahead adder? Explain general organization of it. (06 Marks)
Write a truth table for two — bit magnitude comparator. Write the Kamaugh map for each
output of two bit magnitude comparator and the resulting equation. (14 Marks)

: Module-3
What is a Flip-Flop? Discuss the working principle of SR Flip Flop with its truth table. Also
high light the role of SR Flip Flop in switch debouncer circuit. (12 Marks)

Explain the operation of Master - Slave JK flip-flop along with its circuit diagram. (08 Marks)

OR
Draw and explain the working of Positive and Negative edge triggered D flip-flop. (12 Marks)
Derive t_hja;?;pharacteristic equations for D, JK, T and SR flip flops. (08 Marks)
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Module-4
Explain with suitable logic and timing diagram :
1) Serial-in serial-out shift register :
11)Parallel-in parallel out shift register. » (10 Marks)
Compare Registers and Counters. Explain the working of 4-bit Asynchlonous counter using
JK flip-flops. (10 Marks)

OR
Describe the block diagram of a MOD — 7 Jonson counter and explam its operation. Give the
count sequence table and the decoding logic used to identify the various states. (10 Marks)

Design a MOD — 5 synchronous binary counter using clocked J-K flip-flops. (10 Marks)
Module-5
With a suitable example, explain Mealy and Moore model in a sequential circuit analysis.
(08 Marks)

A sequential circuit has one input and one output. The state diagram is as shown in
Fig.Q9(b). Design a sequential circuit with ‘T’ flip-flop.

G/D
o)

T,
Fig.Q9(b) ' (12 Marks)

OR
With a basic structure, explain clearly Programmable Read Only Memories (PROMS) and
EPROM. (13 Marks)

Write short note on :
i) Read only and Read/Write memories
i1) Flash memory. (07 Marks)

% %k %k kX
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USN 18EE36
Third Semester B.E. Degree Examination, Feb./Mar. 2022
Electrical and Electronic Measurements
Time: 3 hrs. Max. Marks: 100
Note: Answer any FIVE full questions; choosing ONE full question from each module.

. Module-1
1 Analyze unbalanced operation* ef Wheatstone bride and derive bridge sensitivity. (08 Marks)

Obtain the balance equation for Hay’s bridge used for the measurement of inductance. Draw
the phasor diagram at the balanced condmon (07 Marks)

A Kelvin double brldg%ié;;balanced with the following constants, outer ratio arms 100 and
1000Q2, inner ratio arms 99.92Q and 1000.6Q). Resistance of the link 0.1Q. Standard

resistance 0.0037;7 “Calculate the unknown resistance. (05 Marks)
= OR
With dia am explain how Megger can be used for measurement of very high resistance.
4% (08 Marks)
Obtain. the balance equation for Scﬁenng bridge used for the measurement of capacitance.
(06 Marks)
The four arms of the Maxwell’s, capaoltance bridge at balance are :
Arm ab : unknown inductande L, having an intemnal resistance R;
Arm be : A non-inductive t Stance of 1000Q2
Arm cd : A capacitor of 0.5 puF in parallel with a resistance of 1000 Q
Armda: A Iesxstance of 1000Q
Determine the vah fRyand L;. (06 Marks)
Module-2
Show that-deflecting torque Ty =VI cos ¢ for UPF Wattmeter. (07 Marks)
With a ri¢ at:sketch explain the con‘structlon and working of a single phase dynamometer type
power “factor meter. (07 Marks)

The constant of energy:meter is 750 revolutions per kwhr. Calculate the number of

reV@lutlons made by it, when connected toa Joad carrying 100A at 230V and 0.8 power
factor in 30 seconds ]f 1t makes 110 revolutions in 30 seconds, find the percentage error.

m
(06 Marks)
OR

-and phasor diagram explain the theory and operation of single phase induction

type energy meter. (10 Marks)
What is creeping in energy:meter? How it is prevented? (04 Marks)
Explain how reactive power ¢an be measured with single wattmeter in a three phase circuit.
(06 Marks)

Module-3

What is Shunt? HOW it is used to expend the range of an ammeter. (04 Marks)
Write the equwalent circuit and vector diagram of a current transformer. Give the expression
for its ratio.and phase angle error. (08 Marks)
With circuit diagram, explain the measurement of fluxdensity inside a ring specimen of
magne‘nc anaterial. (08 Marks)

1 of2
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OR
Explain why magnetic measurement in Ferro — magnetic material is important. (03 Marks)
Explain the theory and operation of the comparatlve deflection method of testing a CT by
Silsbee’s method. (10 Marks)
A potential transformer of ratio 1000/ 100V has the following cofistants 1, = 95Q,
R, =0.99Q, x, = 6802, x, = 1202, Iy ='0.02A at a power factor of 0 4 calculate :
1) Phase angle error at no-load

ii) Load in VA at Upfat which the phase angle will be zero. * (07 Marks)
Module-4

What are the essentials of an ¢lectronic instrument an}d; explain. (05 Marks)

With block diagram explain the working of true RMS recording voltmeter. (07 Marks)

With circuit, explain the principle of operation of electronic multimeter. (08 Marks)

OR:-

Mention the advantages of electronic instruments. (04 Marks)

Explain with block diagram the dual slope integrating type digital voltmeter. (08 Marks)

What is the working principle of Q-meter? With circuit, explain how Q-factor and

inductance of an unknown coil be measured using Q-meter, %, (08 Marks)
Module-5

Explain : _

1) Segmental display , At

11) Dot matrix display. (06 Marks)

Explain the operation of LED display. Mention its advantages. ... (08 Marks)

With a basic circuit, explain the opcratlon of'potentiometric recmder (06 Marks)

OR

With schematic, explain the operation of gas discharge plasma display. (06 Marks)

With the help of neat block diagram, explain the operaﬁon of ECG machine. (08 Marks)

Explain the operation of LVDT type recorder. (06 Marks)

® ok % ok ok
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INSTRUCTIONS TO THE CANDIDATES
Answer all the hundred questions, each question carrics one mark.
Use only Black ball point pen for writing / darkening the circles.
For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.
Darkening two circles for the same question makes the answer invalid.
Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.

Which one of the following does not take part in the Election of the President?
a) Elected Members of Lok - Sabha b) Elected Members of Rajya — Sabha
¢) Members of the Legislative Council d) None of these

The President can be removed by impeachment procedure on the ground of violating the
Constitution by
a) The Supreme Court

<y Botls

b) The Lok - Sabha only
di The High Cou

he Viee = President of India is Elected by the
a) People
by Members «

d} Members of both the Houses o

resideni i e event of Piesident and Viee - President

¢ Prime Minister by The Chicf Justice of India
<) The Speaker of Lok - Subha d) The Attormey General ol Indi

Which once of the tollowing can the President ot India declare?

a) aggression ot armed rebe
by Emergency duce to breakdown ol constitutional machinery in the State
¢) Financial emergency on account of threat to the financial credit of India
d) All the above.

crgency due to threat of War, oxte

Which budget is placed first in the Parliament House

a) Railway b) General budget  ¢) Financial d) Vote of credit

VER-B-1ofl10
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The President can make Laws through ordinances

a) During the recess of the Parliament

b) On certain subjects even when Parliament is in session
¢) Only on subjects contained in the concurrent list

d) Under no circumstances.

The President can grant pardon in

a) All cases of punishment by Court martial

b) All offences against laws in the Union and Concurrent list
¢) All cases involving death sentence

d) All the above cascs

If State fails to comply with the directives of the Central Govemment. the President can

a) Declare break - down of Constitutional machinery in the State and assume
responsibility for its governance

b) Send reserve police force to secure compliance with directions

¢) Dissolve the State legislature and order fresh elections

d) Can do either (a) or (b)

Which one of the following has been wrongly listed as Judicial power of the President of
India?

a) He appoints the ChiefJustice and other Judges of the Supreme Court

b) He can grant pardon. reprieve and respite to a person awarded punishment

¢) He can consult the Supreme Court on any question of law or fact.

d) He can remove the Judges ot Supreme — Court on ground of misconduct.

Who decides disputes regarding disqualification of Members of Parliament?
a) The President b) The Concemned house

¢) The Election Commission.

d) The President in consultation with the Election Commission.

> Lok  Sabha it neither the Speaker nor the Deputy Speaker is not

s

o presides over
wvailable?

&) A member nominated vy the President.
by A member chosen by the Council o Minister.

¢) A member of'the panel of Chairman announced by the Speaker.
d} The Senior most member of the Lok — Sabha.

sUperi Sublia beeuause
is direetly elected by ftalone contig anees
i can oust the Council of Minister through a Voie ofno — Confidence

d) of all the above reasons.

The Supreme Court of India was sctup

b) Under the Indian Independence Act 1947
der the Governiment of ndia Act 1935

I'he Judges of the Supreme Court are

a) Flected by the Parliament.

b) Appointed by the President on the advice ot the Parliament.

¢) Appointed by the President on the advice of the P.M.

d) Appointed by the President on the advice of the Chief Justice of India.

VER-B-20f10
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The Preamble of the Indian Constitution does not contain concept of
a) Democratic b) Adult Franchise ~ ¢) Sovereignty d) Fraternity

The strength of the Constituent Assembly, after the withdrawal of the Muslim League.
was reduced to
a) 299 members b) 329 member

¢) 331 members d) 359 members

The Fundamental Rights of a Citizen can be suspended

a) By the Parliament through a Law enacted by two — third majority
b) By the President during a National emergency

¢) By the Supreme Court d) None of these

Which authority can a Citizen approach for securing Right of Personal freedom
a) The Parliament b) The President
¢) Supreme Court alone d) Both Supreme Court and High Court

The main objective of the Fundamental Rights is to
a) Ensure Independence of Judiciary b) Promote a Socialist Pattern of Society
¢) Ensure Individual liberty d) Ensure all the above

Under which section ol IT Act, stealing any digital asset or information is written a cyber
crime
a) 63 b) 63-D c) 67 d)y 70

Fundamental duties of the Indian Citizen. were
a) Enshrined in the original Constitution

b) Added to the Constitution by the 42™ Amendment.

¢) Added 1o the Constitution by the 44" Amendment.

d) Added to the Constitution in the wake the Supreme Court Judgment Keshavananda
Bharati casc with consent of all the Political par

Which one ol the following Fundamental Right has been subject ol maximum litigation
we Constitution”?

sinee the uration o

a) Right to Freedom of Speech
¢ Rightto Property

b) Right to Constitutional Remedies
dy Right against aploitation

f Citizens were

i onstititi an Act ¢
Amendmen( d) Incorporated by the 447 Amendment

¢) Incomporated by the 42

e Fundamental Rights of ndian Citizen have been ¢
a) Lhevare hemmed i by too many restrictions.
|

iticized on the ground that

rehension o
Both ()

d ::.

<)

Respite means
a)  Death due to drowning
) Death due o strangulat

b) Awarding lesser punishment

Ay Painless death

The Governor recommends the imposition of Presidents rule in the State

a) On the recommendation of the State Legislature

b) On the recommendation of the C.M.

¢) On the recommendation of Council of Minister

d) If'he is satisfied that the State Government cannot be ca
the provision of the Constitution.

cd on his accordance with

VER-B-50f10
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Who of the following acted as the Constitutional Advisor of the Constituent Assembly
a) Dr. B.R. Ambedkar b) Dr. Babu Rajendra Prasad
¢) B.N.Rao d) Dr. Sachidanand Sinha

Which one of the following provisions of the Constitution came into force soon after its
adoption on 26" November 1949?

a) Provision relating to Citizenship b) Elections

¢) Provisional Parliament d) All the above

The three types of Justice referred in our Preamble are
a) Social, Economic and Social b) Economic, International and Political
¢) Economic, Religious and Social d) Religious, Social and Political

What was the exact Constitutional status of the Indian Republic on January 26. 1950,
when the Constitution was inaugurated?

a) A Democratic Republic b) Sovereign Democratic Republic

¢) A Sovereign Secular Democratic Republic

d) A Sovercign Socialist Secular Democratic Republic.

Right to against Exploitation seeks to protect the weaker sections of Society by
a) Giving cqual pay for cqual work for men and women.

b) Prohibiting human tratficking and beggar

¢) Providing compulsory education tor children below the age of [4 years

d) Forcing a person to work against his will without payment

Which one of the [ollowing Dircctive principles can be described as Gandhian in nature?
1) Providing equal pay for cqual work for both Men and Women

b) Workers participation in Management

¢) Organization of Village Panchayats as units of self Government

d) Separation of Judiciary from the Executive.

Who has been vested with the power to decide whether the restrictions imposed on the
indamental Rights of Indian Citizen are reasonable or not

a) The Parlisment b) The President

<) The Courts &Y None of the aboyve

Which one of the to
Noncitizens,

move.
t0 acquire pr 3
Constituttonal remedies.

Which one of the following has been wrongly Histed as a special feature of Fundamental
Rights in India

@) Fundanenial Rights are more sactosanct than rights granted by o1
by Fundamental Rights are subject to reasonable restrictions

¢) Fundamental Rights arc Justiliable and can be enforced through the Supreme Court

d) None of'these

VER-B-6o0f10
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Which one is not a Trade Secret?

a) Theorem b) Equipment ¢) Formulae d) Pattern

The codes of Ethics can be taken as guidelines by the Engineers to
a) Resolve the conflicts b) Formulate problems
¢) Overcome the work pressure d) Escape from the responsibility

A Fault tree is used to
a) Assess the risk involved
¢) Take free consent

b) Claim compensation
d) Improve safety

Risk of harm equal to probability of producing benefit is
a) Inevitable Risk b) Acceptable Risk
¢) Risk which cannot be avoided d) None of'these

One of'the Aims of studying Engineering Ethics is to

a) Inspire Engineers to acquire in depth knowledge in their field
b) Acquire new skills in Engineering testing.

¢) Stimulate moral imaginations

d) Make Engineers self— confident in discharging their duties.

Which onc is not an impediment to responsibility?
a) Group think b) Microscopic vision
¢) Trademark d) Egocentric tendencies

Being salt or blaming others is type of attitude of responsibility of Engincers
a) Minimalist b) Reasonable care  ¢) Good wo d) Nonc ol these

o overcome an impediment “Uncritical Aceeptance”. what step an Engineer has 1o take?
a)  Accept and Analyse b) Analyse and Accept
¢) Alwavs say Yes Boss d) None ol these

¢ Ethics .

ar Sumulates the morai imagination

0) Provides up — to - date knowledge in the licld ot Engineering.

¢} Stimulate ict Research d) Stresses on Frme Mana

cment.

- cither House ol

moved

crions of |
Wfthe €
) He prepares the agenda for the mecting of the Cabinet,

) He coordinates the working of various departiment

d) He chairs the meeting of the various standing and ad-hoe committees of Pa

L

ament.

A motion of' no — confidence against the Council Ministers can be moved in the
Lok — Sabha . if'it is supported by atleast
a) 50 members

¢) 100 members.

d) One —third of the total members of Lok - Sabha

b) 55 members

VER-B-9of10

94.

96.

97.

98.

99.

100),

18CPC39/49

The President can call a Joint session of the two Houses of Parliament /
a) Ifa bill passed by one house is rejected by the other
b) If the amendment proposed to the bill by one house is not acceptable to the other
house.
¢) If the housc does not take any action for six months on a bill remitted by the other
house.
d) Under all the above conditions.

The Members of the Rajya — Sabha except the nominated ones are

a) Directly elected by the people b) Elected by local Self - Goveming bodies

¢) FElected by the Legislative Assemblies of the States.

d) Elected partially by Legislative Assemblies and partially by the Local Self Govermning
bodies.

The President who is the head of the State under the Parliamentary system prevailing in
India.

a) Enjoys absolute powers

¢) Enjoys only nominal powers

b) Enjoys limited but real powers
d) Enjoys no powers

The Vice - President is the Ex — Office Chairman of
a) The Rajya Sabha b) The National Development Council
¢) The Planning Commission d) Nonc ofthe above

he Speaker of'the Lok - Sabha is

a) Appointed by the President.

b) Appointed by the President on the recommendations of the P.M.
¢) Llected by the members ol the two houses at a joint sitting.

d) Llected by the members of the Lok - Sabha.

I'he Rajya — Sabha is a permancnt House but

Cne

d ol its members retire every two ye
h) One  halfofits members retire every ¢ vears

¢) One = ifih of its members retire every ve
One -1

Lhe power to control the expenditure ol the Government o dii rests exclusivelv with
a) The Parliament hy The P
¢) The Compteoller and Auditor Ge dy Thel

nister

VER-B-100f10
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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

Time:

[y
Qo

18MAT31

Third Semester B.E. Degree Examination, Feb./Mar. 2022
Transform Calculus, Fourler Series and Numerical
Techmques

3 hrs.

Max. Marks: 100

Note: Answer any FIVE full questions, choosing ONE full question from each module.

i) L{_ZL_W._

If f()= {2 %
a—t,

(s+1)’*(s+2)

Find L{_Ti__}
(S +av>" i 5

Evaluate L™ (-—ﬂémj 4

Module-1
()L e™

OR

sint, O<t<m .

Express f(t)=<sin2t, n<t<2n - N

Modu_le-2

sin2t)

by using convolutioa-theorem.

(-m, m)

nﬁ hence find its L-aplace Transform.

(06 Marks)

o)

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

as a Fouriet. series in the interval (0, 27) and hence deduce that

T 2—2+ g T (07 Marks)
Express y as a Fourier series. upto the second harmonic given :

ki 0 | 60 | 120 | 180 | 240 | 300

4y 4 3 2 4 5 6

% (07 Marks)
5 «»é OR

Find the Half-Range sine series of x — x* in the mterval 0, m) (06 Marks)
Obtain feun%r expansion of the function f(x) = 2x — x* in the interval (0, 3). (07 Marks)

{ of 3
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Obtain the Fourier expansion of y upto the first harmg ~
X 0 1 2 3 [
y 9 | 18 | 24 | 284
L N (07 Marks)
I, |xlka P
If f{x) = , ourter transform of f(X)#and hence find the
0, |xpa
value of I L (06 Marks)
Find the mhmte Fourier cosing transform of ¢ * (07 Marks)
Solve using z-transform yux2 ~ 4y, =0 given that Yo —"0, yi=2 (07 Marks)
OrR
Find the fourier sine transform of f(x) = e *! and
hence evaluate j ke n}x dx ; m>0. &> _l (06 Marks)
y 1+x”
Obtain the z-transform of cos nd and. sin n®. ‘ (07 Marks)
Find the inverse z-transform of Y
Az -2z
; % (07 Marks)
z' 52" +8z2-4
Module—4
Solve g—y =x’+y, y(l) =1 using Taylor S, serles method con51der1ng up to fourth degree
X :
terms and find y(1. 1) \ (06 Marks)
Given «31: 3x+%, y(0) = 1 compute y(O 2) by takmg h = 0.2 using Runge — Kutta
%
method of fourth order. S e (07 Marks)
If j—— 2" -y, y(0)=2 y(O 1) = 2.010, y(0. 2) 2.040 and y(0.3) = 2.090, find y(0.4)
correct to 4 decimal places using Adams- Bashfa‘rth method. (07 Marks)
OR,,
Use fourth order Runge-Kutta meth,éﬂ, to find y(0.8) with h = 0.4, given j_y:1/ x+y,
' X
y(0.4)=041 (06 Marks)
Use modified Euler’s methodto compute y(20.2) and y(20.4) given that g}i = logm(ij with
y(20)=5 Takingh=10.2. (07 Marks)
Y XY yith

Apply Milne’s predictor-corrector formulae to compute y(2.0) given e
X

X 0.0 0.5 1.0 1.5
y 2.000 2.6360 3.5950 4.9680

(07 Marks)

20of3



KLS Vishwanathrao Deshpande Institute of Technology, Haliyal v

18MAT31

Module-5
9 a. Using Runge-Kutta method, solve

d’ M o .
_y:x(_d_}ij —y* , for x = 0.2, correct to four decimal places, using initial conditions

dx’ dx
y0)=1,y'(0)=0 | (07 Marks)
b. Derive Euler’s equation in the standard form Viz, 2—— i =) (07 Marks)
- Oy dx\oy'
C. Find the extremal of the ﬁmctlonaiz» j :(y +y *+2ye*)dx (06 Marks)
OR i
dzy dy A% g ; . = =ae
10 a. - =4x +—d— and the following table of initial valucs:
2 x
1.1 4, 1.2 1.3
22156 | 2.4649 2.7514
i 23178 2.6725 2.0657
Computey( 5: by applying Milne’s Predictor-corrector formula. (07 Marks)
b. Prove that geodesics of a plane surf"‘" ef‘are straight lines. (07 Marks)

Ao,
c. On what curves can the functlonal J.(y +12xy)dx w1th y(0) = 0, y(1) = 1 can be

extremized? (06 Marks)

30f3




KLS Vishwanathrao Deshpande Institute of Technology, Haliyal a,

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

18SMATDIP31

Third Semester B.E. Degree Examination, Feb./Mar. 2022
Additional Mathematics - |
hrs. o Max. Marks: 100

Note: Answer any FIVE full questions, chagsigig ONE full question from each module.

USN
Time: 3
1 a.
b.
c.
2 a
b.
c.
3 a
b.
c.
4

A,

K‘Mt/)_c)lule—l

(2=3D)(2+1)°

Find the modulus and amplitude.\;iifﬂtli’é .complex number : 1— . (07 Marks)
A +1
« . n v
Prove that (M © =cosnB+isinnd. = (06 Marks)
I+cosB@—1sinH ) !
Show that the Vectom a 2 b+ 3¢ c _2a+3b-dc , —b+2¢ are coplanar. (07 Marks)
k, b 61—3_]+2k Fmd 1) ab 11) axb 1) |axb|. (07 Marks)
b 2]2, are perpendicular.
_ (06 Marks)
Express 1-1+/3 in the polar form and hence find its modulus and amplitude. (07 Marks)
Module-2
Using Euler’s theorem, prove that xu, + yu, = -3cotu where u :‘sin"{ xy J (07 Marks)
. X+y
i 2 3 4
-y XFX” X
,,_,,;1%5m2x =l+X————+—+...... (06 Marks)
B, B 2 3 24

o(u, v, W)

xy evaluate
a(x,y,z)

at the point (1, —1, 0). (07 Marks)

OR

(07 Marks)
(06 Marks)

S du cu
, prove that x——+y~«+z—:0. (07 Marks)

.. Ox "oy oz

Module—3

A particle moves along. the curve x = (1 — ), y = (1 + ), z = (2t — 5) determinc its velocity
and acceleration att= 1 sec. (07 Marks)

If F =2x2 1—3yz¢§;+vxz k and ¢p=2z-x"y, find T (Vo) and Fx(V([)) at{l, =1, 1y.
(06 Marks)

Find the “constants a, b, ¢ so that i = (x+2y+az) 1+(b‘< 3y - 7)_]+ (4x +cy+27)1 kis
irrotational. (07 Marks)

1of2
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OR
6 a. Find the directional derivate of ¢ = x’yz + 4x7° at (1,2,-1) along a = 2i- J 2k (07 Marks)

b. Find curl f given that f = xyz? i+ Xy Zj+X yzk (06 Marks)

¢ Iff=x *i+y?j+z°%k and g yzZi+ ZXj+ xyk Show that fxglsasolenmdal vector.

(07 Marks)
7 a. Obtain the reduction formula, I, = I cos" xdx , where n is a'positive integer. (07 Marks)
I Vx :
b. Evaluate J J xydydx . o, (06 Marks)
0 x
L1
C. Evaluate “..[(x +y+z)dxdydz. ' (07 Marks)
000 :
OR
wi6 Sy
8 a. Evaluate: jsin"(3x)dx. N (07 Marks)
¢ ‘
b. Evaluate :IX sin* x cos® x d x . _ : (06 Marks)
0
Ny
¢. Evaluate ”‘J-xyz dxdydz. » L% (07 Marks)
000 Y
Module-5
9 a Solve:(7x+y+1)dx+(x+2y+l)dy 0. ~ (07 Marks)
b. Solve:(dxy+ 3y’ —x)dx + (x*+ 2xy)dy =0. - (06 Marks)
c. Solve:y(2xy+e*)dx —e*dy=0. (07 Marks)
OR
10 a. Solve: (5x* +3x’y* —2xy’)dx + (2x’y — 3Xzyz SyYhdy = 0. (07 Marks)
b. Solve: y(2xy 1)dx xdy=0. (06 Marks)
c. Solve: j—y+ yCotX =CosX. (07 Marks)
X
& %k ok ok
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Third Semester B.E. Degree Examination, Feb./Mar. 2022
Electric Circuit Analysis
Time: 3 hrs. Max. Marks: 100
¢ Note: Answer any FIVE full questions, choosing ONE full question from each module.
= Module-1
8 1 a Use Source transformation and Source shift methods to convert the circuit shown in
?‘3 Fig. Ql(a) to a single current source in parallel with a single resistor. (06 Marks)
§ ; %__M\:’—_Nﬁw o A
63 CL)
o= 49 i
= Fig. Q1(a) Oy @ G 31
=) MAA 2
2o s ’
= . = > 5 5
GRS b. Compute the resistance across the terminals XY of network, shown in Fig. Q1(b). (06 Marks)
g ob
Lo e N
28 , [&n /’1
z E e\ x : 1 AAAA
Sz b én
Ly Fig. Q1(b) J -
= = ) A
1 - S Jsqu
R ol
o T B
é" S c. For the network shown in Fig. Q1(c), write the mesh equations for the meshes indicated in
5 2 time domain. Draw the dual network and write its nodal equations. (08 Marks)
<
55
> 5
R
= |
5 & Fig. Q1(c)
¢ .8 -
82
53 iy = Josint
o)
£ 8 ~ OR
& % 2 a. Use Node equations to determine what value of E will cause Vi to be zcero for the circuit
8 2 shown in Fig.Q2(a). (08 Marks)
S & :
—a
g
G
g Fig. Q2(a)
5
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Using Mesh analysis, find the current through 10Q resistor in the circuit shown in
Fig. Q2(b). (06 Marks)

Fig. Q2(b)

In the circuit shown in Fig. Q2(c), determine V, which results in zero current through 4Q

resistor. Use Mesh current analysis. (06 Marks)
2 i

Fig. Q2(c)
Module-2
Use Superposition principle to find the current in 2Q resistor in the network shown in
Fig. Q3(a). (06 Marks)
Fig. Q3(a)

Find the Thevenin and Norton equivalent circuit at terminals AB for the circuit shown in
Fig. Q3(b). (10 Marks)

Fig. Q3(b)
State and prove maximum Power Transfer theorem as applied to DC network. (04 Marks)
OR
Use Millman’s theorem to determine the voltage ‘Vs’ of the network shown in Fig. Q4(a).
Given that Er =230 |0’V ; Ey=230[-120° V ; Ep=230|120°V. (06 Marks)
£r O 20
Fig. Q4(a)
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b. For the circuit shown in Fig. Q4(b), determine the impedance Zx such that maximum power

1s transferred from the source to the load of impedance Zx. (08 Marks)
4 H
2.

C. (06 Marks)
Fig. Q4(c) - S@ﬁﬁ 4 ien A T
s Tz} 2p M
Module-3
5 a. Define Q of the effcmt and show that the resonant frequency is the geometric mean of half
power frequenmes (07 Marks)

b. Determige the’'RLC parallel circuit parameters whose impedance response curve is shown in
Fig. QS b)?z.:»What are the new values'of W, and bandwidth if ‘C” is increased 4 times?
(07 Marks)

Fig. Q5(b)
o 10 et ficey
c. A parallel=«R L circuit is energized by a current source of 1A. The switch across the source
18 opene att=0". Solve for: V DV and D*V att=0", ifR=100Q and L = (06 Marks)
| OR

6 a ‘_,A two branch anti lesonant circuit contains L = 0.4H and C = 40uF. Resonance is to be

“ achieved by variation of Ry and Re. Caleulate the resonance frequency for the following
cases: i) Ro=120Q ; Rc=80Q i) R =80Q ; Rc=0 iii) Ry =Rc=100Q.

(08 Marks)

b. Determine.i =07, when the switch K is moved from position 1 to 2 att=0

f;ﬁ_,dt
in the network shown in Fi 1g Q()(b) Steady state having been reached before switching.
(06 Marks)
Fig. Q6(b)
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Why do we need to study initial conditions? Write: the equivalent form of the elements in
terms of the initial and final conditions of the elc;meht. (06 Marks)

Module-4
The current function i(t) shown in Fig. Q7(a) is impressed on a capaeitor ‘C’. What should
be the strength ‘A’ of the impulse so that the voltage across th\ {C’ becomes zero for
t> 5 sec. (10 Marks)

Aty

Fig. Q7(a)

+ (Sezs)*

In the circuit shown in Fig. Q7(b), the switch is opened at t = 0, with V=1V, C = 1F

b

= —;H and G = 10. Find the node Vo-Ltages Vi(t) and Vs(t) by Laplace transform method.

(10 Marks)

g Ve £ L age)

» :
Fig. Q7(b)
Gy ;
e

OR g
State and prove Initial and Final value theorems. (08 Marks)
If {{t) = 2t, sketch the following 1) f{t — 2) u(t) ii) ffHut-2) i) f(t—-2)u(t-2)
v) f{t) &(t) vy flt)o(t—2). (06 Marks)

In the circuit shown in Fig.Q8(c), the switch is clased at t = 0 and there is no initial charge
on either of the capacitors. Find the resulting current ‘i’. Using Laplace transformation.
(06 Marks)

O

,_..——ug»/{'
Fig. Q8(c) - t l&ﬁ
€5,

Module-5
A three phase, 4 — wire 150V, CBA system has a star connected load with Z = 6\&0 Q

In= 6| 130" Qand Zc = 5[45° Q. Obtain all the i) Line currents

i) Currents in the neutral 1) Hence draw the Phasor diagram. (08 Marks)
Define [Z] and [Y] of a two port network and derive for [Z] in terms of [Y]. (08 Marks)

4 of 5
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c. Determine [Z] for the network shown in Fig. Q9(c). (04 Marks)
f,{, fn A Tk

Fig. Q9(c)

OR
10 3 A three phase, 339 4V 'ABC system has a delta connected load with Zxp = IOL Q

Zac =10[30°Q ‘dfzu\ = 15| -30° Q. Obtain phase and line currents as well as draw the

phasor dlagram Assume Vge as a reference phasor (10 Marks)
b. Obtain [Z} d% [Y] for the two port network shown in Fi ig. Q10(b).
F : b1

Fig. Q10(b)

(10 Marks)

* % Rk E
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Third Semester B.E. Degree Examination, Feb./Mar. 2022
Transformers and Generators

Time: 3 hrs. | Max. Marks: 100

. “Why paraliel operat

Note: Answer any FIVE full questions, ckaoszng ONE full question from each module.

Mﬁdule-l

With the help of phasor diagram.’ exprlam the operation of practical transformer on load.

‘ (06 Marks)
Find the all day efficiency of’ smgie phase transformer having a maximum efficiency of 98%
at ISKVA, UPF and Ioaded asfollows:
12 hours — 2kW, 0. 5p£1aggmg
6 hours — 2kW, 0.8pfilagging
6 hours — no loaéﬂ@«; (08 Marks)
Explain with ngdt circuit diagram and phasor dlagram the operation of star-star connected

3 phase transfo rifier. & (06 Marks)
"OR

Exp n\w’?h the help of connection and phasor dlagram how SCOTT connections arec used

to o ' two phase from three phase supply. : (06 Marks)

A 5KVA, 500/250V, S50Hz single phase transformer gave the following readings,
OCtest: 500V, 1A, SOWA[LV side open] -+
SCtest: 25V, 10A,60WLV side shorted]. =
Determine:
1) Efficiency on fifll load and 0.8pf laggmo
i)  Voltage reg lgtlon on full load and 0 8pf leading.
i) Efficieneyion 60% of full loadan
iv)  Draw the equivalent circuit f‘eférred to primary and msert all values init. (10 Marks)
Mentlon the advantages of delta—delta connected 3 phase transformer [Any four]. (04 Marks)

. Module-2
With“a neat circuit diagrant,-explain Sumpner’s test conducted on two identical transformers.

»%}so show how efﬁc1en yand regulatlon are calculated from Sumpner’s test data.

(08 Marks)
two single phase transformers are needed and mention the necessary
conditions to be si’msﬁed for parallekoperation. (06 Marks)
With a neat dlagram explain the}o eration of on-load tap changer. (06 Marks)

OR
With a neat diagram show the current distribution in step up and step down Auto
transformer. Also derive. the expression for saving of copper in an Auto transformer.

(10 Marks)
Obtain the expressmn for load sharing during the parallel operation of two transformers
having same voLt ' ratios. (06 Marks)
Explain how the:Eddy current losses and hysteresis losses are separated in a single phase
transformer. - (04 Marks)

1 of2
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b.

a.

b.

Module-3 %
Explain how the equivalent circuit parameters are obtained for

r a three winding transformers.

(08 Marks)
What is armature reaction in DC machines? Explain” how armature reaction produces
demagnetizing and cross magnetizing effect. Also, derive the necessary expressions for
demagnetizing and cross magnetizing ampere turns.- (08 Marks)
Write short notes on concentrated and dlstrlbuted winding in a synchronous generator.

(04 Marks)
‘OR sy
Derive the Emf equation of an altemator Also derive an expressmn for pitch factor and
distribution factor. : (10 Marks)
What is commutation? With a neat élagram explain the pracess of commutation. (06 Marks)
Mention reasons for using three windi ing transformers. 8 (04 Marks)
Module-4 -~

Explain the method of" determining voltage regulatlon of synchronous generator by ZPF
method with all the circuit diagram necessary in the test. (12 Marks)
The OC and SC test readings for a 3¢ star cennected 1000KV A, 2000V, 50Hz alternator are

Ir 10 [©20° ] 25 [ 30 | 40 [ 50

Voc line voltage | 800 [ 1500 | 1760 | 2000 | 2350 | 2600
Lase -7 200 | 250 | 300 - -

The armature resistance is 0. ZQ/p“h Draw the charaetfznstlc curves and estimate the
percentage regulation by EMF method at i) FL, 0. 8pf‘<‘ ¢ 1i) FL, 0.8pflead. (08 Marks)

OR
Explain the method of determining voltage regulatzon of alternator hy MMF method with all
necessary circuit diagrams in the test. § s (12 Marks)
Derive the expression for EMF induced: mterms of termmalwoltage load current, armature
resistance, synchronous reactance along Wlth phasor dia fam for lagging and leading PF

load. 9% el (08 Marks)
Module-5 .
Mention the necessary conditions for synchronizatiori of alternators. Explain the lamp dark
and lamp bright method of: synchromzatlon of alternators. (12 Marks)
Write short notes on hunting in synchronous ‘machine. Also explain the role of damper
windings. G (08 Marks)
OR
With a neat circuit diagram, explam the method of determination of X4 and X, of salient
pole alternators. (10 Marks)
Write short notes on capability curves of a synchronous generators. (06 Marks)
Mention any four advantages of operating alternators in parallel. (04 Marks)
sk sk ok ook
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USN 18EE34
Third Semester B.E. Degree Examination, Feb./Mar. 2022
Analog Electronic Circuits
Time: 3 hrs. ) | Max. Marks: 100
Note: Answer any FIVE full questtons, choosmg ONE full question from each module.

o ¥ *odule-l
1 a. For the circuit shown in Fig QI{ sketch the output waveforms and transfer characteristics
for cut in voltage of diode is 0.7V
Vo,
|
\
—\N

Fig Ql(a) (08 Marks)

b. With aneat circuit diagram xplain self bias circuit, write the necessary equations.
. (08 Marks)
€. Define stability factor and ‘derive the expressmn for stability factor of fixed baise circuit with
respect to Ico. ; (04 Marks)

“OR
2 a. Derivea Xpressmn for Emy, IB and V(E for voltage divider bias circuit using exact analysis.
(08 Marks)
b. What fisﬁelampmg circuit? Explam the negative damping circuit with and without reference
voltage with necessary waveforms. (08 Marks)
c. List the important apphcatlons of clipping and ¢lamping circuits. (04 Marks)
Module-2
3 a. With the help’ of re equivalent m@del “derive an equation for Zi, Zg and Ay for an emitter
follower con gu (08 Marks)
b. State and pm‘ve Mlllers theoxem (08 Marks)
c. Compare the characteristics af CB, CC and CE configurations. (04 Marks)
P ’ OR

4 a. Starting from fundzf ental define h-parameters and obtain an h-parameter equivalent circuit
of common emig;%{'"é()nﬁguration. (08 Marks)

[ of2
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b. For the circuit shown below, determine : )re ii)Z;, Zo, A and A; taking ro = 00 Q)

 Fig Q4(b)

(08 Marks)

What are the advantages of h-parameters? (04 Marks)
: Module-3
Derive expressions for Z;, Zg-and A, for a Darlington emitter follower circuit. (10 Marks)
Draw and explain the block diagram of multistage‘cascade amplifier. (06 Marks)
Write important characteristics of Darlington emitter follower. (04 Marks)
OR

For a current series feedback amplifier, derive an expression for Z;;and Z. (10 Marks)
Explain the general characteristics of negative feedback amplifier. (10 Marks)

Module-4 "
Explain the operation of class B push-pull amphﬁer vae that the maximum efficiency of

class B configuration is 78.5%. A4 (08 Marks)
With a neat diagram and waveform, explain the operation of RC phase shift oscillator using
BJT. Write the expression for frequency of oseillation. ' (08 Marks)

A crystal has following parameters L= 0.3344H, C = 0. 065pF, Cy; = 1pF and R = 5.5KQ.
Calculate : i) Series resonance frequency i) Parallel resonance«fﬁ”equency (04 Marks)

“.OR
With a neat diagram, explain basic* prmmple of ope,ratlon of oscillators and write the
condition to obtain sustained oscillations. (08 Marks)
Prove that the maximum conversion efficiency of class A transformer coupled amplifier is
50%. s (08 Marks)
The following readings are available for a poWel amplifier, calculate the second harmonic
distortion in each case.
Vceo = 10V Vg = 18V Veggmin =1V

Veeo = 10V Vegmag = 19V Vegmin =1V (04 Marks)
Module-5

Explain the construction working and characteristics of an n-channel JFET. (10 Marks)

Define transconductance (g} and derive an expression for “g.”. (06 Marks)

Compare BJT and JFET. (04 Marks)

OR
With neat sketch, explain the basic construction operation and characteristic of n-channel
depletion type MOSFET. (10 Marks)
Derive the expression for Ay, Z; and Z, for a JFET common source amplifier with fixed bias
configuration. (10 Marks)

sk ok ek sk
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Third Semester B.E. Degree Examination, Feb./Mar. 2022
Digital System Design

Time: 3 hrs. Max. Marks: 100

Note: Answer any FIVE full questions, choosing ONE full question from each module.

VM'odule—l
Explain the definition of combinational logic. Convert the given Boolean cxpression into
minterm canonical form and maxterm canonical form.

F(x,y,z) = X+Xz(y+2). - (08 Marks)
Simplify the function :

Y =1f(a,b,c,d)=3m(2,3,4,5,13, 15) + 2d(8, 9, 10, 1 1) using Karnaugh map. (06 Marks)
Simplify the furiction :

Y =1f{(a, b, c,d) ir’tM(O, 4,5,7,8,9,11, 12,13, 15) using the Karnaugh map. (06 Marks)

- OR
Simplify wing the Quine — McClusky minimization technique :
Y =1f{a, b, ¢, d) =2Im(0, 2, 8, 10). (08 Marks)
Using the Quine — McCluskey method, obtain all the prime implicates for the following
Boolean function : ; '

f(a, b, ¢, d)=nM(0, 2, 3, 4,5, 12, 13) + dc(8, 10). (12 Marks)
g Module-2
With the aid of general structure, clearly distinguish between a decoder and encoder.
B (06 Marks)
Implementithe following Boolean function using 4 : | multiplexer.
R, F(A, B, C)=2nu(l, 3, 5, 6) (06 Marks)
Implement full subtractor using a decoder and two NAND gates and write its truth table.

p (08 Marks)
What is carry look ahead adder? Explain general organization of it. (06 Marks)
Write a truth table for two — bit magnitude comparator. Write the Kamaugh map for each
output of two bit magnitude comparator and the resulting equation. (14 Marks)

: Module-3
What is a Flip-Flop? Discuss the working principle of SR Flip Flop with its truth table. Also
high light the role of SR Flip Flop in switch debouncer circuit. (12 Marks)

Explain the operation of Master - Slave JK flip-flop along with its circuit diagram. (08 Marks)

OR
Draw and explain the working of Positive and Negative edge triggered D flip-flop. (12 Marks)
Derive t_hja;?;pharacteristic equations for D, JK, T and SR flip flops. (08 Marks)

1 of2
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Module-4
Explain with suitable logic and timing diagram :
1) Serial-in serial-out shift register :
11)Parallel-in parallel out shift register. » (10 Marks)
Compare Registers and Counters. Explain the working of 4-bit Asynchlonous counter using
JK flip-flops. (10 Marks)

OR
Describe the block diagram of a MOD — 7 Jonson counter and explam its operation. Give the
count sequence table and the decoding logic used to identify the various states. (10 Marks)

Design a MOD — 5 synchronous binary counter using clocked J-K flip-flops. (10 Marks)
Module-5
With a suitable example, explain Mealy and Moore model in a sequential circuit analysis.
(08 Marks)

A sequential circuit has one input and one output. The state diagram is as shown in
Fig.Q9(b). Design a sequential circuit with ‘T’ flip-flop.

G/D
o)

T,
Fig.Q9(b) ' (12 Marks)

OR
With a basic structure, explain clearly Programmable Read Only Memories (PROMS) and
EPROM. (13 Marks)

Write short note on :
i) Read only and Read/Write memories
i1) Flash memory. (07 Marks)

% %k %k kX
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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 18EE36
Third Semester B.E. Degree Examination, Feb./Mar. 2022
Electrical and Electronic Measurements
Time: 3 hrs. Max. Marks: 100
Note: Answer any FIVE full questions; choosing ONE full question from each module.

. Module-1
1 Analyze unbalanced operation* ef Wheatstone bride and derive bridge sensitivity. (08 Marks)

Obtain the balance equation for Hay’s bridge used for the measurement of inductance. Draw
the phasor diagram at the balanced condmon (07 Marks)

A Kelvin double brldg%ié;;balanced with the following constants, outer ratio arms 100 and
1000Q2, inner ratio arms 99.92Q and 1000.6Q). Resistance of the link 0.1Q. Standard

resistance 0.0037;7 “Calculate the unknown resistance. (05 Marks)
= OR
With dia am explain how Megger can be used for measurement of very high resistance.
4% (08 Marks)
Obtain. the balance equation for Scﬁenng bridge used for the measurement of capacitance.
(06 Marks)
The four arms of the Maxwell’s, capaoltance bridge at balance are :
Arm ab : unknown inductande L, having an intemnal resistance R;
Arm be : A non-inductive t Stance of 1000Q2
Arm cd : A capacitor of 0.5 puF in parallel with a resistance of 1000 Q
Armda: A Iesxstance of 1000Q
Determine the vah fRyand L;. (06 Marks)
Module-2
Show that-deflecting torque Ty =VI cos ¢ for UPF Wattmeter. (07 Marks)
With a ri¢ at:sketch explain the con‘structlon and working of a single phase dynamometer type
power “factor meter. (07 Marks)

The constant of energy:meter is 750 revolutions per kwhr. Calculate the number of

reV@lutlons made by it, when connected toa Joad carrying 100A at 230V and 0.8 power
factor in 30 seconds ]f 1t makes 110 revolutions in 30 seconds, find the percentage error.

m
(06 Marks)
OR

-and phasor diagram explain the theory and operation of single phase induction

type energy meter. (10 Marks)
What is creeping in energy:meter? How it is prevented? (04 Marks)
Explain how reactive power ¢an be measured with single wattmeter in a three phase circuit.
(06 Marks)

Module-3

What is Shunt? HOW it is used to expend the range of an ammeter. (04 Marks)
Write the equwalent circuit and vector diagram of a current transformer. Give the expression
for its ratio.and phase angle error. (08 Marks)
With circuit diagram, explain the measurement of fluxdensity inside a ring specimen of
magne‘nc anaterial. (08 Marks)

1 of2
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OR
Explain why magnetic measurement in Ferro — magnetic material is important. (03 Marks)
Explain the theory and operation of the comparatlve deflection method of testing a CT by
Silsbee’s method. (10 Marks)
A potential transformer of ratio 1000/ 100V has the following cofistants 1, = 95Q,
R, =0.99Q, x, = 6802, x, = 1202, Iy ='0.02A at a power factor of 0 4 calculate :
1) Phase angle error at no-load

ii) Load in VA at Upfat which the phase angle will be zero. * (07 Marks)
Module-4

What are the essentials of an ¢lectronic instrument an}d; explain. (05 Marks)

With block diagram explain the working of true RMS recording voltmeter. (07 Marks)

With circuit, explain the principle of operation of electronic multimeter. (08 Marks)

OR:-

Mention the advantages of electronic instruments. (04 Marks)

Explain with block diagram the dual slope integrating type digital voltmeter. (08 Marks)

What is the working principle of Q-meter? With circuit, explain how Q-factor and

inductance of an unknown coil be measured using Q-meter, %, (08 Marks)
Module-5

Explain : _

1) Segmental display , At

11) Dot matrix display. (06 Marks)

Explain the operation of LED display. Mention its advantages. ... (08 Marks)

With a basic circuit, explain the opcratlon of'potentiometric recmder (06 Marks)

OR

With schematic, explain the operation of gas discharge plasma display. (06 Marks)

With the help of neat block diagram, explain the operaﬁon of ECG machine. (08 Marks)

Explain the operation of LVDT type recorder. (06 Marks)

® ok % ok ok
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USN |
Third/Fourth Semester B.E. Degree Examination, Feb./Mar. 2022
Constitution of India, Professional Ethics and Cyber Law

Time

18CPC39/49

Question Paper Version : B

(COMMON TO ALL BRANCHES)

:2 hrs.] [Max. Marks: 100

INSTRUCTIONS TO THE CANDIDATES
Answer all the hundred questions, each question carrics one mark.
Use only Black ball point pen for writing / darkening the circles.
For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.
Darkening two circles for the same question makes the answer invalid.
Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.

Which one of the following does not take part in the Election of the President?
a) Elected Members of Lok - Sabha b) Elected Members of Rajya — Sabha
¢) Members of the Legislative Council d) None of these

The President can be removed by impeachment procedure on the ground of violating the
Constitution by
a) The Supreme Court

<y Botls

b) The Lok - Sabha only
di The High Cou

he Viee = President of India is Elected by the
a) People
by Members «

d} Members of both the Houses o

resideni i e event of Piesident and Viee - President

¢ Prime Minister by The Chicf Justice of India
<) The Speaker of Lok - Subha d) The Attormey General ol Indi

Which once of the tollowing can the President ot India declare?

a) aggression ot armed rebe
by Emergency duce to breakdown ol constitutional machinery in the State
¢) Financial emergency on account of threat to the financial credit of India
d) All the above.

crgency due to threat of War, oxte

Which budget is placed first in the Parliament House

a) Railway b) General budget  ¢) Financial d) Vote of credit

VER-B-1ofl10
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The President can make Laws through ordinances

a) During the recess of the Parliament

b) On certain subjects even when Parliament is in session
¢) Only on subjects contained in the concurrent list

d) Under no circumstances.

The President can grant pardon in

a) All cases of punishment by Court martial

b) All offences against laws in the Union and Concurrent list
¢) All cases involving death sentence

d) All the above cascs

If State fails to comply with the directives of the Central Govemment. the President can

a) Declare break - down of Constitutional machinery in the State and assume
responsibility for its governance

b) Send reserve police force to secure compliance with directions

¢) Dissolve the State legislature and order fresh elections

d) Can do either (a) or (b)

Which one of the following has been wrongly listed as Judicial power of the President of
India?

a) He appoints the ChiefJustice and other Judges of the Supreme Court

b) He can grant pardon. reprieve and respite to a person awarded punishment

¢) He can consult the Supreme Court on any question of law or fact.

d) He can remove the Judges ot Supreme — Court on ground of misconduct.

Who decides disputes regarding disqualification of Members of Parliament?
a) The President b) The Concemned house

¢) The Election Commission.

d) The President in consultation with the Election Commission.

> Lok  Sabha it neither the Speaker nor the Deputy Speaker is not

s

o presides over
wvailable?

&) A member nominated vy the President.
by A member chosen by the Council o Minister.

¢) A member of'the panel of Chairman announced by the Speaker.
d} The Senior most member of the Lok — Sabha.

sUperi Sublia beeuause
is direetly elected by ftalone contig anees
i can oust the Council of Minister through a Voie ofno — Confidence

d) of all the above reasons.

The Supreme Court of India was sctup

b) Under the Indian Independence Act 1947
der the Governiment of ndia Act 1935

I'he Judges of the Supreme Court are

a) Flected by the Parliament.

b) Appointed by the President on the advice ot the Parliament.

¢) Appointed by the President on the advice of the P.M.

d) Appointed by the President on the advice of the Chief Justice of India.

VER-B-20f10



KLS Vishwanathrao Deshpande Institute of Technology, Haliyal

01J0F-d—dIA

SA[NPAYIS § PUB SA[OIUY S8 (P SOINPAYdS ()] Pue SA[AY OOt (D

SOINPAYDS + UL SAOIY §6¢ (( SA[NPaYdS [ PUB SIIIUY /6§ (T

(,0101]) 210M SI[NPAYIS PUE SO

LUl MOY CAQUISERY THAIMINSUO) Ayl A pardope uonminsuo ) Ayl jo wioj jputj ail uj

AFouL pue
pooyaolg jodg (e

SUBALL AJILLIQ)L. .

RRIRLRITY .):::__:.J._ Jo tHom
AU AL

AT TR TN HAN HHOWpUIWY |y (2
JUIWPUDMUN 0

IPUDLLR &2 D)

g oYy (p i 2yl {0
Vapdoad agl (g EIPUL JO UGN A (1
S1UONNINSUO ) URIPH] AU O SILIOINY [0 22N08 A |

juapisarg oy Aq pajutoddys (o
apdoad ayr Ag paraajg Apoaag (e

1
L

2831 O AUON, (P
JAUIQE) PUB ' A4 U0am)aq stamod Jo uonnquusic] (9
“KIRIDIPRL PUE DATINDAXTT Y} udIMIOG s1omod jo uorsialg (q
JUDLLLIDAOT)
21L1S DY PUR JUDLLLLIDAON) UOIUM ) UdAMIAG stomod dANB[SIFAT Jo uonnquusi (e
10J SOPIAQIU UOTIMIISUO) URIPU] DY) JO DIMIBIJ [BIIPD] dY L

JUIWRIL] DT AQ PICUILON (P
ammesiSo] meg oy A paddly (g

SEQIRS JO IOWDAOL)

SIQUIASSY [BIDUIAOLJ DY} AQ PRIdAJT] (P SIS UBIPU] AU JO S1a[nd K paeuiwoN (2
SILLIB [EON1[0 SNOLIRA AQ POTRUIWON (q ojdoad oy Aq paroaja Apdang (v
2ur A[QUIDSSY TUDNINSUO)) DU JO SIDQUIDA Y |

'$$2IFU0)) [BUONRN URIPU] oYl Ag (P

"JUDWILLIDAQS) JRUOISIAOL Y] JO UOnN|osal e.1opun (9

Lt61 10V 2ouapuadopu] uerpuj ayldapun (g

9| UB|J UOISSIAl JouUIqe)) dy) 1apup) (e

dn jas £jquuassy 1uaMISu0)) & AQ po1deud SEA BIPU] JO UONMIIISUO) dU .

FunpoaoN (o aAlas [1ewy (q SO (e
SHIoMIdU

JO Butpueisiopun

arempiey (p

ySnoayl waisfs © 01 $$200k Suues 10) 1uepoduil osfe i

‘s1o10 uLiey o weidoad dojoasp o] (p

SunuweiSord yoeay o (2

swieadoxd pue [00) Suiping pue swojqoid SuiAj0s 104 (q

dlemjeut UM 0) A[uQ (e

({S[euOIssajoId A1In09S pue S1oxdey [ed1Y3d 10j jurnodu st ofengue| Sutwweidord Ay

jenuejod Suppoene weWS (P 0URISISIO] (2
Ajjiqedes Surajos wigqold (q Sunyuiyl aanea1) (e
(S1aRY JO S|[1s 2qISurIUI 3y} 1apuUn $3WOD 10U Op SUIMO[OJ Y1 JO YD1y M

6¥/6€DdD81

“w,
Lag}

0LJO £-d—dHA

uonerawnug (p Suluostod — ¥y (2 Funuudiood (q Suruosiog SN (e

Funpory jeaigig jo oseyd 1511y oy st

sprewls (p 10081 ] (0
“IOST WHIDIA IO J5IR) B JO SSAUPPE ] SUIydiay 10

sofed qopy (g

Asqap (e
19581 {JUOWIWOD s193081Y

SIIDL () 40U LY AG 1S sLodal ayy uo paseg (p
Anpiqisuodsar puosiad o ug (0
:4_ IR LUNTLEAR A AANDIGNS Hf (B

FDULRIL 3AT100a 0

AU

uonesuadiuo ) 2
)40 ap

(23]

2l

Apuodao
UL LAY W LR S

(o
2D IO DRI AJETD] PIAY Q¢ JOU ARW IDAUSEUL] U\

[RLIDIRW DNISAHPE RHOLS pajdnoa At
apis g apis sieid 0wy Funoaary (g IyEn sweaq o) Fupurgy (v

} 88001 (D

sueaw 9jdnoa 1y

‘sjeuoissajold Aq pardope spacpuels Jo 1§ (p

“SIPOY [LUOISSI] 0] G passed sany Jo 10§ (9

"W TUO[ B DOULS PO AIISQO SO[NY jeuomipei] (q
S|EUOISSJ 01 JO 1arIeyDd [euostod o1 Tunejds sany Jo 19§ (e
SISO [BUOISSDJ O]

'sa1s padojaadp Ajjeagnualag (p
duwdojaaaq (q

SO jRImeN (9
SO AANUAAAL] (v
© S1.$21y19 SuLdmsuyg

‘stomod da0qe Jo [V (P
AlQuiassy
dane[s13a oY) 01 Anununuo) ueipu] 03Uy Y1 JO I2QUIAL UIRIIdD ABUILOU URd I (D
“[19Un0)) SANRISISST Ay Jo siaquiaw ay Jo yxis auouodde uea oy (q
a1me[sisa] auls oY) ondosord 1o uowiuns ued o (v
(ARG B JO J0UIdA0N) a1 AQ Pakolud St S10m0d dANE[SIZAT BuImoljo) 9yl Jo yarym

QA0QL 2Y) JO dUON (P
el 1910 dWos (q

Q0IAISS QANBNSIUIWPY URIPU] Y] (D
parsod s1 oy aloym ajer§ oy (e
01 S5U0JAQ JOUIDAOL) DY A |RIauar)

9A0QE dY} JO dUON (P
uonaipsung aejaddy (q

uonorpsunf K10SIApY (9
UONDIPSLING [RUISLI() (©

past|
A[Buoim ud2q sey eipuf jo 1no) dwaidng oY) jo uondipsung FUIMOJ|0) O JO YIIYM

anoge ayy Jo Auy  (p
suno) YSiH 2yl (q

SUNO)) UOISSAS PUB 1DLUSIC YL (D
uno) awaidng ay (e

210J2q

sonoeid uo Augd 01 payiuad Jou dIe JUIWAINAL JaY . Uno) dwaidng oy Jo saSpnr oy

6¥/6€DdO8I

‘0t



KLS Vishwanathrao Deshpande Institute of Technology, Haliyal

39,

40.

41.

42.

44,

46.

49.

18CPC39/49

The Preamble of the Indian Constitution does not contain concept of
a) Democratic b) Adult Franchise ~ ¢) Sovereignty d) Fraternity

The strength of the Constituent Assembly, after the withdrawal of the Muslim League.
was reduced to
a) 299 members b) 329 member

¢) 331 members d) 359 members

The Fundamental Rights of a Citizen can be suspended

a) By the Parliament through a Law enacted by two — third majority
b) By the President during a National emergency

¢) By the Supreme Court d) None of these

Which authority can a Citizen approach for securing Right of Personal freedom
a) The Parliament b) The President
¢) Supreme Court alone d) Both Supreme Court and High Court

The main objective of the Fundamental Rights is to
a) Ensure Independence of Judiciary b) Promote a Socialist Pattern of Society
¢) Ensure Individual liberty d) Ensure all the above

Under which section ol IT Act, stealing any digital asset or information is written a cyber
crime
a) 63 b) 63-D c) 67 d)y 70

Fundamental duties of the Indian Citizen. were
a) Enshrined in the original Constitution

b) Added to the Constitution by the 42™ Amendment.

¢) Added 1o the Constitution by the 44" Amendment.

d) Added to the Constitution in the wake the Supreme Court Judgment Keshavananda
Bharati casc with consent of all the Political par

Which one ol the following Fundamental Right has been subject ol maximum litigation
we Constitution”?

sinee the uration o

a) Right to Freedom of Speech
¢ Rightto Property

b) Right to Constitutional Remedies
dy Right against aploitation

f Citizens were

i onstititi an Act ¢
Amendmen( d) Incorporated by the 447 Amendment

¢) Incomporated by the 42

e Fundamental Rights of ndian Citizen have been ¢
a) Lhevare hemmed i by too many restrictions.
|

iticized on the ground that

rehension o
Both ()

d ::.

<)

Respite means
a)  Death due to drowning
) Death due o strangulat

b) Awarding lesser punishment

Ay Painless death

The Governor recommends the imposition of Presidents rule in the State

a) On the recommendation of the State Legislature

b) On the recommendation of the C.M.

¢) On the recommendation of Council of Minister

d) If'he is satisfied that the State Government cannot be ca
the provision of the Constitution.

cd on his accordance with

VER-B-50f10
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Who of the following acted as the Constitutional Advisor of the Constituent Assembly
a) Dr. B.R. Ambedkar b) Dr. Babu Rajendra Prasad
¢) B.N.Rao d) Dr. Sachidanand Sinha

Which one of the following provisions of the Constitution came into force soon after its
adoption on 26" November 1949?

a) Provision relating to Citizenship b) Elections

¢) Provisional Parliament d) All the above

The three types of Justice referred in our Preamble are
a) Social, Economic and Social b) Economic, International and Political
¢) Economic, Religious and Social d) Religious, Social and Political

What was the exact Constitutional status of the Indian Republic on January 26. 1950,
when the Constitution was inaugurated?

a) A Democratic Republic b) Sovereign Democratic Republic

¢) A Sovereign Secular Democratic Republic

d) A Sovercign Socialist Secular Democratic Republic.

Right to against Exploitation seeks to protect the weaker sections of Society by
a) Giving cqual pay for cqual work for men and women.

b) Prohibiting human tratficking and beggar

¢) Providing compulsory education tor children below the age of [4 years

d) Forcing a person to work against his will without payment

Which one of the [ollowing Dircctive principles can be described as Gandhian in nature?
1) Providing equal pay for cqual work for both Men and Women

b) Workers participation in Management

¢) Organization of Village Panchayats as units of self Government

d) Separation of Judiciary from the Executive.

Who has been vested with the power to decide whether the restrictions imposed on the
indamental Rights of Indian Citizen are reasonable or not

a) The Parlisment b) The President

<) The Courts &Y None of the aboyve

Which one of the to
Noncitizens,

move.
t0 acquire pr 3
Constituttonal remedies.

Which one of the following has been wrongly Histed as a special feature of Fundamental
Rights in India

@) Fundanenial Rights are more sactosanct than rights granted by o1
by Fundamental Rights are subject to reasonable restrictions

¢) Fundamental Rights arc Justiliable and can be enforced through the Supreme Court

d) None of'these

VER-B-6o0f10
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Which one is not a Trade Secret?

a) Theorem b) Equipment ¢) Formulae d) Pattern

The codes of Ethics can be taken as guidelines by the Engineers to
a) Resolve the conflicts b) Formulate problems
¢) Overcome the work pressure d) Escape from the responsibility

A Fault tree is used to
a) Assess the risk involved
¢) Take free consent

b) Claim compensation
d) Improve safety

Risk of harm equal to probability of producing benefit is
a) Inevitable Risk b) Acceptable Risk
¢) Risk which cannot be avoided d) None of'these

One of'the Aims of studying Engineering Ethics is to

a) Inspire Engineers to acquire in depth knowledge in their field
b) Acquire new skills in Engineering testing.

¢) Stimulate moral imaginations

d) Make Engineers self— confident in discharging their duties.

Which onc is not an impediment to responsibility?
a) Group think b) Microscopic vision
¢) Trademark d) Egocentric tendencies

Being salt or blaming others is type of attitude of responsibility of Engincers
a) Minimalist b) Reasonable care  ¢) Good wo d) Nonc ol these

o overcome an impediment “Uncritical Aceeptance”. what step an Engineer has 1o take?
a)  Accept and Analyse b) Analyse and Accept
¢) Alwavs say Yes Boss d) None ol these

¢ Ethics .

ar Sumulates the morai imagination

0) Provides up — to - date knowledge in the licld ot Engineering.

¢} Stimulate ict Research d) Stresses on Frme Mana

cment.

- cither House ol

moved

crions of |
Wfthe €
) He prepares the agenda for the mecting of the Cabinet,

) He coordinates the working of various departiment

d) He chairs the meeting of the various standing and ad-hoe committees of Pa

L

ament.

A motion of' no — confidence against the Council Ministers can be moved in the
Lok — Sabha . if'it is supported by atleast
a) 50 members

¢) 100 members.

d) One —third of the total members of Lok - Sabha

b) 55 members
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The President can call a Joint session of the two Houses of Parliament /
a) Ifa bill passed by one house is rejected by the other
b) If the amendment proposed to the bill by one house is not acceptable to the other
house.
¢) If the housc does not take any action for six months on a bill remitted by the other
house.
d) Under all the above conditions.

The Members of the Rajya — Sabha except the nominated ones are

a) Directly elected by the people b) Elected by local Self - Goveming bodies

¢) FElected by the Legislative Assemblies of the States.

d) Elected partially by Legislative Assemblies and partially by the Local Self Govermning
bodies.

The President who is the head of the State under the Parliamentary system prevailing in
India.

a) Enjoys absolute powers

¢) Enjoys only nominal powers

b) Enjoys limited but real powers
d) Enjoys no powers

The Vice - President is the Ex — Office Chairman of
a) The Rajya Sabha b) The National Development Council
¢) The Planning Commission d) Nonc ofthe above

he Speaker of'the Lok - Sabha is

a) Appointed by the President.

b) Appointed by the President on the recommendations of the P.M.
¢) Llected by the members ol the two houses at a joint sitting.

d) Llected by the members of the Lok - Sabha.

I'he Rajya — Sabha is a permancnt House but

Cne

d ol its members retire every two ye
h) One  halfofits members retire every ¢ vears

¢) One = ifih of its members retire every ve
One -1

Lhe power to control the expenditure ol the Government o dii rests exclusivelv with
a) The Parliament hy The P
¢) The Compteoller and Auditor Ge dy Thel

nister
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